MIAMI-DADE] MIAMI-DADE COUNTY
. PRODUCT CONTROL SECTION
DEPARTMENT OF REGULATORY AND ECONOMIC RESOURCES (RER) 11805 SW 26 Street, Room 208

BOARD AND CODE ADMINISTRATION DIVISION Miami, Florida 33175-2474

T (786) 315-2590  F (786) 315-2599
NOTICE OF ACCEPTANCE (NOA) www.miamidade.gov/economy
Rolling Shield Inc.

9875 N.W. 79" Avenue
Hialeah Gardens, FL 33016

Scopk:

This NOA is being issued under the applicable rules and regulations governing the use of construction materials.
The documentation submitted has been reviewed and accepted by Miami-Dade County RER-Product Control
Section to be used in Miami—Dade County and other areas where allowed by the Authority Having Jurisdiction
(AH)).

This NOA shall not be valid after the expiration date stated below. The Miami-Dade County Product Control
Division (In Miami—Dade County) and/or the AHJ (in areas other than Miami-Dade County) reserve the right
to have this product or material tested for quality assurance purposes. If this product or material fails to perform
in the accepted manner, the manufacturer will incur the expense of such testing and the AHJ may immediately
revoke, modify, or suspend the use of such product or material within their jurisdiction. RER reserves the right
to revoke this acceptance if it is determined by Miami—-Dade County Product Control Section that this product
or material fails to meet the requirements of the applicable building code.

This product is approved as described herein and has been designed to comply with the High Velocity Hurricane
Zone of the Florida Building Code.

DESCRIPTION: Series Extruded Aluminum 50mm Slat Roll-Up Shutters — L.ML.IL.

APPROVAL DOCUMENT: Drawing No. 20-200, titled “50mm Slat Roll-Up Shutter”, prepared by Tilteco
Inc., dated 07/14/20, sheets 1 through 16 of 16 including 1A, 3A, 5A, 5B, 14A last revision 1 dated 07/14/2020,
signed and sealed by Walter A. Tillit Jr., P.E., bearing the Miami-Dade County Product Control Revision stamp
with the Notice of Acceptance number and the expiration date by Miami-Dade County Product Control Section.
MISSILE IMPACT RATING: Large and Small Missile Impact Resistant

LIMITATIONS:
1. Roll-up Mechanism is NOT part of this approval and must be certified by independent testing agency.
2. Minimum separation from interior storm bar to existing glass shall be as shown on sheet 12 of 16.
LABELING: Each unit shall bear a permanent label with the manufacturer's name or logo, city, state, the
following statement: "Miami—Dade County Product Control Approved", and NOA number, per TAS-201,
TAS-202, and TAS-203, unless otherwise noted herein.
RENEWAL of this NOA shall be considered after a renewal application has been filed and there has been no
change in the applicable building code negatively affecting the performance of this product.

TERMINATION of this NOA will occur after the expiration date or if there has been a revision or change in

the materials, use, and/or manufacture of the product or process. Misuse of this NOA as an endorsement of any
product, for sales, advertising or any other purposes shall automatically terminate this NOA. Failure to comply
with any section of this NOA shall be cause for termination and removal of NOA.

ADVERTISEMENT: The NOA number preceded by the words Miami-Dade County, Florida, and followed
by the expiration date may be displayed in advertising literature. If any portion of the NOA is displayed, then it
shall be done in its entirety.

INSPECTION: A copy of this entire NOA shall be provided to the user by the manufacturer or its distributors
and shall be available for inspection at the job site at the request of the Building Official.

This NOA revises NOA #19-0401.04 and consists of this page 1 and evidence submitted pages E-1, E-2, E-3,
E-4 and E-5 as well as approval document mentioned above.

The submitted documentation was reviewed by Helmy A. Makar, P.E., M.S.

///cé / . /M\/ NOA No. 20-0811.17
MIAMI-DADE COUNTY

Expiration Date: 06/07/2024
| APPROVED |
S lo ol/ Zolo Approval Date: 10/01/2020

Page 1



Rolling Shield Inc.

NOTICE OF ACCEPTANCE: EVIDENCE SUBMITTED

A. DRAWINGS

1. Manufacturer's die drawings and sections.

2. Drawing No 09-040, titled “50mm Slat Roll-Up Shutter”, prepared by Tilteco Inc.,
dated 06/01/09, sheets 1 through 16 of 16 including 1A, 3A, 5A, 5B & 14A, with
revision “1” dated 04/03/09, signed and sealed by Walter A. Tillit Jr., P. E.

B. TESTS
1. Test report on: 1) Uniform Static Air Pressure Test per PA 202,
2) Large Missile Impact Test per PA 201
3) Cyclic Wind Pressure Test per PA 203
along with marked—up drawings and installation diagram of Series CD40, of
Aluminum Roll-Up Shutters, prepared by Fenestration Testing Laboratory, Inc., Test
Reports No.’s FTL 2485 dated 01/12/2000 and FTL3013 dated March 13, 2001,
signed and sealed by A. P. Gonzalez, P. E.
(Submitted under previous Association NOA # 06—-0144)

A Test report on: 1) Large Missile Impact Test per PA 201,
along with marked—up drawings and installation diagram of Aluminum Storm Bar,
prepared by Fenestration Testing Laboratory, Inc., Report No.’s FTL. 2637, 2639,
2640, 2641 and 2642, all dated 07/25/2000, signed and sealed by A. P. Gonzalez, P. E.
(Submitted under previous Association NOA # 06—-0144)

3. Test report on: 1) Simple Loading Test, per FBC
along with marked—up drawings and installation of Aluminum Storm Bar, prepared by
Fenestration Testing Laboratory, Inc., Report No. FTL 3013, dated 03/13/2001,
signed and sealed by A. Acevedo, P. E.
(Submitted under previous Association NOA # 06—-0144)

4. Test report on: 1) Impact Test, per FBC, ASTM D 256,

2) Flexural Test, per FBC, ASTM D790

3) Tensile Property Tests, per FBC, ASTM D638
along with marked—up drawings and installation of plastic sample, prepared by
Certified Testing Laboratories, Inc., Report No. CTL 0410G, dated 04/09/2001 signed
and sealed by Ramesh Patel, P. E.
(Submitted under previous Association NOA # 06—-0144)

C. CALCULATIONS

1.

Comparative analysis for slats; storm bars, headers, tracks, mullions and anchors,
using rational analysis dated 04/23/09, pages 1 through 201 of 201, prepared by
Tilteco, Inc. signed and sealed by Walter A. Tillit Jr., P. E.

(Submitted under Association NOA # 09-0612)

F?i—]elmy A. Makar, P.E., ML.S.
Product Control Section Supervisor
NOA No. 20-0811.17
Expiration Date: 06/07/2024
Approval Date: 10/01/2020

17



Rolling Shield Inc.

NOTICE OF ACCEPTANCE: EVIDENCE SUBMITTED

D. QUALITY ASSURANCE

1.

Miami Dade Building Code Compliance Office (BCCO).

E. MATERIAL CERTIFICATIONS

1.

None.

F. STATEMENTS

1.

Statement Letter of product compliance to FBC and “No financial interest” dated
April 09, 2007, signed and sealed by Walter A. Tillit Jr., P. E.

(Submitted under Association NOA # 09—0612)

Laboratory compliance letter for Test Report No. FTL. 2637, 2639, 2640, 2641 and
2642, issued by Fenestration Testing Laboratory, Inc., dated July 25, 2000, signed and
sealed by A. P. Gonzalez, P. E.

(Submitted under previous Association NOA # 06—0144)

Laboratory compliance letter for Test Report No. FTL 3013, issued by Fenestration
Testing Laboratory, Inc., dated 03/13/2001, signed and sealed by A. Acevedo, P.E.
(Submitted under previous Association NOA # 06—0144)

Laboratory compliance letter for Test Report No. CTL 0410G, issued by Certified
Testing Laboratories, Inc., dated 04/09/2001, signed and sealed by Ramesh Patel, P. E.
(Submitted under previous Association NOA # 06—0144)

G. OTHERS

1.

Notice of Acceptance No. 05-0929.02, issued to Rolling Shield, Inc. for their Series
“Extruded Aluminum 50mm Slat Roll-Up Shutters”, approved on 05/07/07 and
expiring on 06/07/09.

This NOA is approved as a Member of the National Shutter Association, Inc.
(Submitted under Association NOA # 09-0612)

Release letter issued by National Shutter Association, Inc on 06/29/09 for “40mm
Rolling Shield Shutters, signed by Sam Downs, Association President.
Acknowledgement letter issued by Rolling Shield, Inc. on 06/29/09, signed by Jose A.
Delgado, President of Rolling Shield, Inc.

Acceptance letter issued to Rolling Shield, Inc. on 07/01/09, signed by Jose A.
Delgado, President of Rolling Shield, Inc. and signed by Rolf — Christian Friedrich,
Miami-Dade County BCCO — Product Control Engineer 1.

EVIDENCE SUBMITTED UNDER PREVIOUS APPROVAL # 14-0306.06
A. DRAWINGS

I

Drawing No. 14-015, titled “50mm Slat Roll-Up Shutter”, prepared by Tilteco Inc.,
dated 03/03/14, sheets I through 16 of 16 including 14, 34, 54, 5B & 144, last
revision 1 dated 03/03/14, signed and sealed by Walter A. Tillit Jr., P.E.

He £ Y Mt~

éﬁefn'ly A. Makar, P.E., M.S.
Product Control Section Supervisor
NOA No. 20-0811.17

Expiration Date: 06/07/2024
Approval Date: 10/01/2020



Rolling Shield Inc.

NOTICE OF ACCEPTANCE: EVIDENCE SUBMITTED

B. TESTS
1. None.
C. CALCULATIONS
1. None.

D. QUALITY ASSURANCE
1. By Miami- Dade County Department of Regulatory and Economic Resources (RER).

E. MATERIAL CERTIFICATIONS
1. None.

F. STATEMENTS
1. Statement Letter of product compliance to FBC, 2010, prepared by Tilteco, Inc., dated
February 28, 2014, signed and sealed by Walter A. Tillit Jr., P.E.

G. OTHERS
1. This Notice of Acceptance No. 14—0306.06, issued to Rolling Shield, Inc. for their
Series “Extruded Aluminum 50mm Slat Roll-Up Shutters”.

EVIDENCE SUBMITTED UNDER PREVIOUS APPROVAL #15-0528.08
A. DRAWINGS
1. Drawing No. 15-129, titled “50mm Slat Roll-Up Shutter”, prepared by Tilteco Inc.,
dated 05/13/15, sheets 1 through 16 of 16 including 34, 54, 5B, last revision I dated
05/13/15, signed and sealed by Walter A. Tillit Jr., P.E.

B. TESTS
1. None.

C. CALCULATIONS
1. Anchors calculation, using rational analysis dated 05/12/15, pages 1 through 30 of
30, prepared by Tilteco, Inc. signed and sealed by Walter A. Tillit Jr., P.E.

D. QUALITY ASSURANCE
1. By Miami- Dade County Department of Regulatory and Economic Resources (RER).

E. MATERIAL CERTIFICATIONS
1. None.

F. STATEMENTS
1. Statement Letter of product compliance to FBC, 2014, prepared by Tilteco, Inc., dated
May 13, 2015, signed and sealed by Walter A. Tillit Jr., P.E.

elmy A. Makar, P.E., ML.S.

Product Control Section Supervisor
NOA No. 20-0811.17

Expiration Date: 06/07/2024
Approval Date: 10/01/2020



Rolling Shield Inc.

NOTICE OF ACCEPTANCE: EVIDENCE SUBMITTED

EVIDENCE SUBMITTED UNDER PREVIOUS APPROVAL #17-0919.14
A. DRAWINGS
I Drawing No. 17-232, titled “50mm Slat Roll-Up Shutter”, prepared by Tilteco Inc.,
dated 08/21/17, sheets 1 through 16 of 16 including 14, 34, 54, 5B, 144 last revision
1 dated 08/21/2017, signed and sealed by Walter A. Tillit Jr., P.E.

B. TESTS
1. None.

C. CALCULATIONS
I Structural calculation, using rational analysis dated 08/21/17, pages I through 27 of
27, prepared by Tilteco, Inc. signed and sealed by Walter A. Tillit Jr., P.E.

D. QUALITY ASSURANCE
1. By Miami- Dade County Department of Regulatory and Economic Resources (RER).

E. MATERIAL CERTIFICATIONS
1 None.

F. STATEMENTS
I Statement Letter of product compliance to FBC, 2017, prepared by Tilteco, Inc., dated
August 21, 2017, signed and sealed by Walter A. Tillit Jr., P.E.

EVIDENCE SUBMITTED UNDER PREVIOUS APPROVAL #19-0401.04
A. DRAWINGS

1. None.
B. TESTS
1. None.

C. CALCULATIONS
1. None.

D. QUALITY ASSURANCE
1. By Miami- Dade County Department of Regulatory and Economic Resources (RER).

E. MATERIAL CERTIFICATIONS
1. None.

F. STATEMENTS
I Statement Letter of product compliance to FBC, 2017, prepared by Tilteco, Inc., dated
March 18, 2019, signed and sealed by Walter A. Tillit Jr., P.E.

Vo] it

(Melmy A. Makar, P.E., M.S.
Product Control Section Supervisor
NOA No. 20-0811.17

Expiration Date: 06/07/2024
Approval Date: 10/01/2020



Rolling Shield Inc.

NOTICE OF ACCEPTANCE: EVIDENCE SUBMITTED

NEW EVIDENCE SUBMITTED
A. DRAWINGS
1. Drawing No. 20-200, titled “50mm Slat Roll-Up Shutter”, prepared by Tilteco Inc.,
dated 07/14/20, sheets 1 through 16 of 16 including 14, 34, 54, 5B, 144 last revision
1 dated 07/14/2020, signed and sealed by Walter A. Tillit Jr., P.E.

B. TESTS
1. None.

C. CALCULATIONS
1. None.

D. QUALITY ASSURANCE
I By Miami- Dade County Department of Regulatory and Economic Resources (RER).

E. MATERIAL CERTIFICATIONS
1 None.

F. STATEMENTS
1. Statement Letter of product compliance to FBC, 2017, prepared by Tilteco, Inc., dated
March 18, 2019, signed and sealed by Walter A. Tillit Jr., P.E.
2, Statement Letter of product compliance to FBC, 2020, prepared by Tilteco, Inc., dated
August 18, 2020, signed and sealed by Walter A. Tillit Jr., P.E.

elmy A. Makar, P.E., M.S.

Product Control Section Supervisor
NOA No. 20-0811.17

Expiration Date: 06/07/2024
Approval Date: 10/01/2020



GENERAL NOTES:

8. ANCHORS SHALL BE INSTALLED FOLLOWING ALL OF THE RECOMMENDATIONS AND SPECIFICATIONS OF THE ANCHOR’S MANUFACTURER.
1. ROLL—UP SHUTTER SHOWN ON THIS PRODUCT APPROVAL DOCUMENT (P.A.D.) HAS BEEN VERIFIED FOR CODE

COMPLIANCE IN ACCORDANCE WITH THE 2020 (7th EDITION) AND 2017 (6th EDITION) OF THE FLORIDA BUILDING CODE. 9. ANCHORS REQUIRED FOR STORM BARS, HEADER & MULLIONS CONNECTIONS TO CONCRETE (MIN. f’c=3000 PSI) SHALL BE AS SPECIFIED

THIS ROLL—UP SHUTTER MAY BE INSTALLED AT HIGH VELOCITY HURRICANE ZONES (MIAMI—DADE/BROWARD COUNTIES). ON APPLICABLE SECTIONS SHOWN ON SHEETS 5, 5A, 5B, 6, 7, 8 & 10 OF 16 RESPECTIVELY.

DESIGN WIND LOADS SHALL BE DETERMINED AS PER SECTION 1620 OF THE ABOVE MENTIONED CODE

] —CALK—IN ANCHORS TO BE AS MANUFACTURED BY DEWALT, INC.

PRESSURE RATINGS INDICATED ON SHEETS 4, 5, 5A, 5B, 6 & 10 THRU 16. —KWIK BOLT TZ EXPANSION ANCHORS AS MANUFACTURED BY HILTI, INC.

IN ORDER TO VERIFY THE ABOVE CONDITION, ULTIMATE DESIGN WIND LOADS DETERMINED PER ASCE 7-16 AND ASCE 7-10

SHALL BE FIRST REDUCED TO A.S.D. DESIGN WIND LOADS BY MULTIPLYING THEM BY 0.6 IN ORDER TO COMPARE THESE g:i'\ggTUMEEE(?EGEDI%I{'SII?E‘EEASB‘DESBPSS:ANE% TES‘ORAR"EB%“;E{O:“ENTA'S;*E& Nfs'*:Hh:’ETSERslz‘L‘\'-'- BE AS INDICATED BELOW OR AT ABOVE MENTIONED

W/ MAX. (A.S.D.) DESIGN PRESSURE RATINGS INDICATED ON SHEETS 4, 5, 5A, 5B, 6 & 10 THRU 16. : .

MINIMUM EMBEDMENT

IN ORDER TO VERIFY THAT COMPONENTS AND ANCHORS ON THIS P.A.D. AS TESTED WERE NOT OVER STRESSED, A 33% ANCHOR SPACING EDGE_DISTANCE CONGRETE_BLOCK

INCREASE IN ALLOWABLE STRESS FOR WIND LOADS WAS NOT USED IN THEIR ANALYSIS. —1/4" TAPCON 3" (TO CONC.) 3" (TO CONC.) 1 3/4" (Min. f'c=3192 psi) -

FASTENERS SPACING INTO WOOD HAS BEEN DETERMINED IN ACCORDANCE WITH N.D.S. 2018. —1/4"8 TAPCON 4” (TO BLOCK) 2" (TO BLOCK) o 1/4" (ASTM C—90)

—1/4"8 CALK—IN 2 1/2" 3" 7/8" (Min. f'c=3000 psi) -

ROLL—UP SHUTTER’S ADEQUACY FOR IMPACT AND FATIGUE RESISTANCE HAS BEEN VERIFIED IN ACCORDANCE WITH —3/8"9 CALK—IN 3 3/4" 4 1/2 1 1/4" (Min. fc=3000 psi) —

SECTION 1626 OF THE ABOVE MENTIONED CODE AS PER TAS—201, 202 & 203 PROTOCOLS, AS PER FENESTRATION —1/2"¢ CALK—IN 5" 6" 11/2" (Min. fc=3000 psi) —

TESTING LAB. REPORTS # 2512, 2514, 2605, 2671, 2637, 2640, 2641, 2642, 2736, 2737 & 3013. —5/16"8 TAPCON XL 3 3/4" 4 1/2" 1 3/4” (Min. fc=3000 psi) 2 1/4” (ASTM C-90, GROUT FILLED)

—3/8"¢ KWIK BOLT TZ 6” 4 3/8" 2" (Min. f'c=3000 psi) -

2. ALL ALUMINUM EXTRUSIONS SHALL BE ALUMINUM ASSOCIATION 6063-T6 ALLOY & TEMPER (UNLESS OTHERWISE NOTED). —1/2"¢ KWK BOLT TZ 9 3/4 6 3 1/4” (Min. £c=3000 psi) -

ALL ALUMINUM EXTRUSIONS IN CONTACT WITH DISSIMILAR MATERIALS SHALL COMPLY WITH SECTION Ill-6 OF THE 2015

ALUMINUM DESIGN MANUAL. 10. POLYETHYLENE BLOCKS USED AT SPRING LOADED SYSTEM FOR REMOVABLE STORM BARS SHALL COMPLY WITH THE FOLLOWING
SPECIFICATIONS:
3. ALL SCREWS TO BE STAINLESS STEEL 304 OR 316 AISI SERIES OR CORROSION RESISTANT COATED CARBON STEEL AS

PER DIN 50018 W/ 50 ksi YIELD STRENGTH AND 90 ksi TENSILE STRENGTH. ALL TEK SCREWS SHALL BE AS ASTM DESIGNATION PROPERTIES YALUE
MANUFACTURED BY ITW BUILDEX, INC. AND SHALL COMPLY W/ FLORIDA BUILDING CODE SECTION 2411.3.3.4. D256 IMPACT RESISTANCE 7.95 FT-Lb/In (AVERAGE)
D638 TENSILE CAPACITY 4243 psi (AVERAGE)
4. BOLTS TO BE ASTM A—307 GALVANIZED STEEL OR AISI 304 SERIES STAINLESS STEEL, WITH 35 ksi MINIMUM YIELD D790 FLEXURAL CAPACITY 1012 psi (AVERAGE)
STRENGTH.
11. IT SHALL BE THE RESPONSIBILITY OF THE CONTRACTOR TO VERIFY THE SOUNDNESS OF THE STRUCTURE WHERE SHUTTER IS TO BE
5. STORM BARS AT FLOOR AND CEILING MOUNTING INSTALLATIONS MAY BE REMOVABLE AT NON HURRICANE CONDITIONS. ATTACHED TO INSURE PROPER ANCHORAGE. THIS SHUTTER SHALL ONLY BE ATTACHED TO CONCRETE, BLOCK OR WOOD FRAME
HOWEVER, EACH STORM BAR SHALL BEAR A PERMANENT LABEL IN A VISIBLE PLACE WITH A WARNING NOTE BUILDINGS.
T
:::ESI‘?TISB(S: Igf IISFERITCEFNAENTWSSNI%\QJNEEDT%I\TSL%T.T S:RgHmll'JTSETRSBEWIIELS Tﬁéﬂrﬁ@'?H%%Féfgfﬁé’”fé'é‘?g?ﬁ%ﬂwﬁﬁigg‘smk"ﬁ 12. THE INSTALLATION CONTRACTOR IS TO SEAL/CAULK ALL SHUTTER COMPONENT EDGES WHICH REMAIN IN CONTINUOUS CONTACT WITH
STORM BAR ARE INSTALLED AS DIRECTED. THE BUILDING TO PREVENT WIND/RAIN INTRUSION. CAULK AND SEAL SHUTTER TRACKS ALL AROUND FULL LENGTH.
6. REMOVABLE STORM BARS SHALL BE STORED IN A CONSPICUOUS PLACE WITH EASY AND IMMEDIATE ACCESS SO THAT 13. SHUTTER MANUFACTURER’S LABEL SHALL BE PLACED ON THE EXPOSED SURFACE OF THE SIDE RAIL
THEY CAN BE REACHED AND INSTALLED ANY TIME (HURRICANE CONDITIONS OR NOT) SLATS ARE ROLLED DOWN. THE é:ggfxsmﬁf%s:o ﬁgo‘égig@s‘?oﬂo" OF SUCH RAIL.
EFFECT OF THE SLATS ROLLED DOWN WITHOUT STORM BARS IS; THOSE SLATS WILL SLIP OUT OF TRACK DUE TO THE ity g ;
DEFLECTION CAUSED BY WIND FORCES. A EA BERCENE. b1
WHEN REMOVING STORM BARS, ONE STORM BAR SHALL ALWAYS BE LEFT INSTALLED (SHALL NOT BE REMOVED). THIS MIAMI—DADE COUNTY PRODUCT CONTROL APPROVED.
CONDITION IS ONLY REQUIRED FOR HEADER SPANS EQUAL OR GREATER THAN 12’-0”.

14, ROLL—UP MECHANISM NOT PART OF THIS APPROVAL.

7. ANCHORS TO WALL FOR SIDE RAILS & BOX CONNECTION SHALL BE AS FOLLOWS (UNLESS OTHERWISE NOTED):

|5. ROLL—UP SHUTTER INSTALLATION SHALL COMPLY WITH SPECS INDICATED IN THIS DRAWING PLUS ANY BUILDING AND ZONING
(A) TO EXISTING POURED CONCRETE (Min. f’¢=3192 psi): REGULATIONS PROVIDED BY THE JURISDICTION WHERE PERMIT IS APPLIED TO.

— 1/4”8 TAPCON ANC , AS MANUFACTURED BY ITW B , INC. USE 3” MIN. EDGE DISTA s
/ HORS, A A v B GHEDEZy 3 " MCE 16. (a) THIS P.A.D. PREPARED BY THIS ENGINEER IS GENERIC AND DOES NOT PROVIDE INFORMATION FOR A SITE SPECIFIC PROJECT; i.e.

NOTES: WHERE THE SITE CONDITIONS DEVIATE FROM THE P.A.D.
A.1) MINIMUM EMBEDMENT OF TAPCON ANCHORS INTO POURED CONCRETE IS 1 3/4”. NO EMBEDMENT INTO (b) CONTRACTOR TO BE RESPONSIBLE FOR THE SELECTION, PURCHASE AND INSTALLATION INCLUDING LIFE SAFETY OF THIS PRODUCT,
STUCCO SHALL BE CONSIDERED AS PART OF THE REQUIRED EMBEDMENT.
BASED ON THIS P.A.D. PROVIDED HE/SHE DOES NOT DEVIATE FROM THE CONDITIONS DETAILED ON THIS DOCUMENT.
A.2) IN CASE THAT PRECAST STONE, PRECAST CONCRETE PANELS, OR PAVERS BE FOUND ON THE EXISTING WALL o T . T NSRACTOR'S: HESFONSIBILITY
OR FLOOR, ANCHORS SHALL BE LONG ENOUGH TO REACH THE MAIN STRUCTURE BEHIND SUCH PANELS. '

ANCHORAGE SHALL BE AS INDICATED ON NOTE A.1 ABOVE.

(c) THIS P.A.D. WILL BE CONSIDERED INVALID IF ALTERED BY ANY MEANS.
(B) TO EXISTING CONCRETE BLOCK WALL (ASTM C-90):

. ., (d) SITE SPECIFIC PROJECTS SHALL BE PREPARED BY A FLORIDA REGISTERED ENGINEER OR ARCHITECT WHICH WILL BECOME THE
= 1/4” 8 TAPCON ANCHORS AS MANUFACTURED BY ITW BUILDEX, INC. USE 3" MIN. EDGE DISTANCE. ENGINEER OF RECORD (E.O.R.) FOR THE PROJECT AND WHO WILL BE RESPONSIBLE FOR THE PROPER USE OF THE P.A.D.
) ENGINEER OF RECORD, ACTING AS A DELEGATED ENGINEER TO THE P.A.D. ENGINEER, SHALL SUBMIT TO THIS LATTER THE SITE
:01T)ESM|N|MUM EMBEDMENT OF TAPCON ANCHORS INTO CONCRETE BLOCK UNIT SHALL BE 1 1/4” PPEREE TEREINGE FOR BErlN.
B.2) IN CASE THAT PRECAST STONE OR PRECAST CONCRETE PANELS BE FOUND ON THE EXISTING WALL, ANCHORS (e) ORIGINAL P.A.D. SHALL BEAR THE DATE AND ORIGINAL SEAL AND SIGNATURE OF THE PROFESSIONAL ENGINEER OF RECORD THAT
SHALL BE LONG ENOUGH TO REACH THE MAIN STRUCTURE BEHIND SUCH PANELS. PREPARED IT.
ANCHORAGE SHALL BE AS INDICATED ON NOTE B.1 ABOVE. apg, THIS DRAWING SHALL ONLY BE USED TO
W . 4,
(C) TO EXISTING WOOD FRAME BUILDING: SOUTHERN PINE #2 W/ G=0.55 MIN. \\\\“\j\ﬁ?_.‘\...-.r.lél/}”a, OBTAIN PERMITS IN THE STATE OF FLORIDA
- 1/478 LAG SCREWS PER N.D.S. §§” \ GEN S(;\ .'5)”’,,’ Florida_Building Code (High Veloclly Hurricane Zone)
= * -
NOTES: = oz © 2020 TILTECO INC. _ DRAWN BY:
C.1) MINIMUM THREADED PENETRATION OF LAG SCREWS INTO THE WOOD FRAME UNIT SHALL BE 1 1/2” N&  Ndg. 44167 - = 50mm SLAT ROLL-UP SHUTTER M.P
THREADED PENETRATION INTO STUCCO SHALL BE CONSIDERED AS PART OF THE REQUIRED THREADED =  : =
= - * / OL SHIELD c 7/14,/2020
PENETRATION. =K I"_IE C O inc ROLLING. , INC. P
C.2) MINIMUM EDGE DISTANCE OF LAG SCREWS INTO WOOD SHALL BE AS INDICATED ON SHEET 11. B qTATE OF — 7= £ e RN GO 8675 N.W. 79 AVE,
C.3) IN CASE THAT PRECAST STONE, PRECAST CONCRETE OR BRICK PANELS, VENEER OR PAVERS BE FOUND’?,G%'._ A N > 2, 6355 N.W. 36th, St, Ste. 305, VIRGINIA GARDENS, Fl. 33166 R R eaass ¢ 20-200
THE EXISTING WALL, ANCHORS SHALL BE LONG ENOUGH TO REACH THE MAIN SUBSTRATE BEHIND SUCH 2, “%.. FORIDY), N il it o el Fax : (305)436-5523
PANELS. I’I, <(:S’ S/ '& N\ ° mm(f,\.!gg?ﬂ% eom REV. No DESCRIPTION DATE_| REV. Mo DESCRIPTION DATE DRAWING :No
MINIMUM THREADED PENETRATION SHALL BE AS INDICATED ON NOTE C.1 ABOVE. Uy 2 TONAL &0 WALTER A. TILLIT Jr. P.E. : o 17-257 7142020
"”uuum\\\\“ FLORIDA Lic. # 44167 p SHEET 1 OF 16




MAXIMUM HEADER SPAN (SEE SCHEDULE) |
- -3
n LS /OO s
Cont.
N
7/ 7
7 T N T /

% 2 Z — | 28

Z % A 7 s—|— S| —s 7
S 7 7 =2 1|—= =2 1| = f 3
S 7 7 (1vp.) | — — 11— ——— &
= 7 7 Z | | 3
g ¥ Y b2 | 2 ¢ A 7 4 = = = = -4 Al
2 P % P. P— % P P % — 5—1 1——5 G— Ip—g;‘ P— % P Y
{7 . © 0 OO<H : s 2
s 7 ;@) @ o) % ] - 72"
Y 7 2 7 | i A
s 7 _2/@(@@@:5—"_ — = 2

Typ. Ea. END, - !

% 7 (Typ. Ea. END) % SV/ ] 7

7 7 7 : [ 3

/ 2 7 L / [ / s

7 7 7 7 ! 72

= — 3= = : 7

Z — 7 A - = 7 J

WHEN
Mox. SLAT SPAN (SEE SCHEDULE) pv I @ '@AP PLICABLE
Max. SLAT SPAN (SEE SCHEDULE) — | Max. STORM_BAR SPACING (SEE_SCHEDULE) ;
NOTE: SEE SHEET 2, 3, 3A & 9 OF 16 FOR COMPONENTS NOMENCLATURE. NOTE: SEE SHEET 2, 3, 3A & 9 OF 16 FOR COMPONENTS NOMENCLATURE.

(SEE SCHEDULE) ! !

Max. MULLION SPACING, Siioe. HEADER SO &
Max. MULLION SPACING (SEE SCHEDULE)
%/‘ ) v pv %/ : s
|
/ \//////////// .////////// P IS4 Y, ®\/ ////////Jl//////////// | //j L
| ! I | ! 1!
] ii | __®0-0 ./ eowp
| ] I —— H . ; HH : HIVA '
ol | | ® 0~ o E=—IFN——=IEHE
o | Iy : : : | | 1! | | 1! E_' Sl %
§’ i i i il 7@\ | :;s :ﬁ S, i i : S, :L 5 i i T @ 3
8 | | e — ] — () i —aJlla 11 Tl — o8
= T I | : | | I : | I — &
I | | | =~ =] — 55
g : | —tH = | 1=l ——|—=—Il — 83
T | = © 00 O==—==1—— — |l |=3
s | | | R A ]| e e e |
s I .: I —— | ' | 'b——v—- i —=1 || &S
: | I I VOO W~ —|— || —|= || =t
= e 2 90 | i e | = |
| | =1 ® T e | e | | e [
\\\\\\\\\\\\\\\T\\\\\\\\\\\\‘( NN AN\ y(\ BONN \\\\\1 AN ANNENNNIANNNNNN QN \\\\\\\
[t' w-1 Max. SLAT SPAN (SEE SCHEDULE) v H =2 *"
Max. SLAT SPAN Max. STORM BAR SPACING (SEE SCHEDULE) I
) ' 71@ (W

Florida Bullding Code (High Veloclly Hurricane Zone)

AL AAAN

NOTE: SEE SHEET 2, 3, 3A & 9 OF 16 FOR COMPONENTS NOMENCLATURE. NOTE: SEE SHEET 2, 3, 3A & 9 OF 16 FOR COMPONENTS NOMENCLATURE. © 2020 TILTECO INC "
,@AP%Z%LE S0mm SLAT ROLL-UP SHUTTER MP
WARNING:
THE EXTRUSIONS, PARTS AND COMPONENTS ILLUSTRATED ON THIS PRODUCT 7/14/2020
APPROVAL DRAWING ARE GENUINE ROLLINGSHIELD PRODUCTS. TO PRESERVE THE NOTE: / I"_ I ECOnc. \ ROLLINGSHIELD, INC. 8 ik
INTEGRITY OF DESIGN AND PERFORMANCE STANDARDS, ROLLINGSHIELD EXTRUSIONS, SEE SECTIONS ON 9875 N.W. 79th AVE.
PARTS AND COMPONENTS CANNOT BE SUBSTITUTED. THE MANUFACTURING OF THESE SHEETS 4 THRU 11. ey TESTIHG & ENCINEERING COMPANY HIALEAH GARDENS, FL. 33016
SYSTEM USING PARTS AND COMPONENTS OTHER THAN THOSE SPECIFIED HEREIN OR Phone : (305)871-1530 . Fax : (305)871-1531 Phone : (305)436-6661 20-200
BY ROLLINGSHIELD IS STRICTLY PROHIBITED AND MAY INVALIDATE THE PRODUCT e—imail: titteco@aol.corn Fax : (305)436-5523 RAWING Ko
APPROVAL. CA-0006719 REV. No DESCRIPTION 0ATE | REV. No DESCRIPTION DATE
WALTER A. TILLIT Jr. P.E. 1 OLD 17-232 7/14/2020)
FLORIDA Lic. # 44167 = SHEET 1A OF 16




1.866™
2.299"

1.905"
2.378"

—le047”

(A) IYPE 1 SIAT:
EXTRUDED ALUMINUM

SLAT

6063~T6 ALUMINUM ALLOY
SCALE: 1/2" 17

2.000"™

2.000™

~—1 l=— 125"
TYP.

2.210"

I

|
I=F
=
T

§

.340i

.184"

SLAT:

TYPE 2 ;

EXTRUDED ALUMINUM

BOTTOM SLAT
6063—T6 ALUMINUM ALLOY

2.000"

2.000"

.188"
(Typ.)

TYPE 1 STORM BAR:

2" EXTRUDED STORM BAR
6063-T6 ALUMINUM ALLOY
SCALE: 1/2” = 1”

-3.000™

——1.500"——1
[T

TYPE 5 STORM BAR:

3" EXTRUDED STORM BAR
6063—T6 ALUMINUM ALL?Y

SCALE: 1/2”
2.965" 13
1.464" 1.501" 'g'g
| .216"— n
xi.") | T
§ 8 .079" -
f 1— \—*—u!ﬂ
BB
TYPE 1
SIDE RAIL:

6063—T6 Alum. ALLOY

SCALE: 1/2” =

7"

SCALE: 1/2" = 1"
] 2.000" : 2.000'—7
3/8"—16x4 1/2" S.5. gA/g -Eéf?g/sl/vf/-Ngrs'
CAP SCREWS W/NUT @ 24" 0.C. STARTING
o el e /47 10 o Toe o
BOTTOM OF STORM BAR. DOITON, (F STa Ba.
L /]
N
s .250" | le—250" &
og i w3
‘.
}
TYPE 6 STORM BAR:
4” HEAVY EXTRUDED STORM BAR
6063—T6 ALUMINUM ALLOY
SCALE: 1/2" = 1”
’—-—2.593' 2.965™
~—1.oa7'————1.5os':i [~ 14651~ —1.500"—=
4 i
i T _04,'%’_;*”_1_;0_ J gionu (1 Fﬁ
R —{l—062" 3 § ] g2t [-— .
S [ dl e ﬁgﬁ- N v o= -07! .354
i T 1 —
§f ——7.313"4—‘ .&J e
TYPE 2 TYPE 3

SIDE RAIL:

6063-T6 Alum. ALLOY

SCALE: 1/2” =

17

SIDE RAIL:

6063—T6 Alum. ALLOY
" SCALE: 1/2” = 1"

-2.000"™

3.000™

TYPE 2 STORM BAR:
3” EXTRUDED STORM BAR

6063-T6 ALUMINUM ALLOY
SCALE: 1/2”

3.000™

125

T

4.000"

P

®

4" EXTRUDED STORM BAR
6063-T6 ALUMINUM ALLOY

SCALE: 1/2” = 1"

4.000™

.125"

]——2.000 '——1

4.000"

.250"

BAR:

TYPE 3 STORM BaAR: (P) IYPE 4 STORM
4” HEAVY EXTRUDED STORM BAR

6063—-T6 ALUMINUM ALLOY

SCALE: 1/2” = 1"

4.000"™

: = B s -5
N N N
HEADER TYPE 1: HEADER TYPE 2: (1) HEADER TYPE 3:
6063-T6 ALUMINUM ALLOY 6063-T6 ALUMINUM ALLOY 6063-T6 ALUMINUM ALLOY
SCALE: 1/2" = 1" SCALE: 1/2” = 1" SCALE: 1/2" = 1"
2.965" |
l—1.517"—~ l——1.501
2.625™ 079" ] |—— —ﬂleG"
l~—1.203"—}+—1.422"— I . RODUCT REVISED
® :“; :(B Q.'_—l ~126 "’3 P the |
5 S 079" SK 354" R uilding
T Tl ; I E—‘—‘—L(_J Za: 7;}
g = o8-l - : | l——1.306'—> ] ";T’i:f . Expiration Date 5 § 7 2024
1 —4.476" 383 ﬁ/;//
f 29_—l L q N o] Y I Py &
8 TYPE 5
TYPE 4 SIDE_RAILS:
S/DE RAIL: 6063—T6 Alum. ALLOY
éﬂ lum ALLOY SCALE: 1/2" =
\\\ ’\sea‘ \. é’ Z/ ﬁ, /’

R @ """ ‘/’z, Florida Bullding Code (ngh Veloclfy Hurricane Zone)
S \,\CJ EN S(<~ P ©2020 TILTECO INC. DRAWN BY-
g N “ B S50mm SLAT ROLL-UP SHUTTER P
3 0.44167 : =
= : £ 7/14/2020

v ixil/ TILIEC O me. ROLLINGSHIELD, INC.
T oS s § LT o B S5 e
=z, Z L3 Phone : (305)871— %1350 . For (305)871~ 151 Fox ¢ (305436552 20-200
’/, OR‘DP %‘Q & e—mail: tilteco®aol.com ki DRAWING N
”/, S/ --------- N (3\ \\\\‘ CA-0006719 RV, Mo DESCRIFTION oA | movwe | pescweTon i o
7y ///”“0 N AL E‘u“\\\\\ WéLLgERFIQD A‘\ l.}l;!'LL#IT i‘r” g?E. 21 oD 17-232 __|7/14/2020) SHEET 2 OF 16

MEIEFEIILAAM




4.000"™
4.000™
-3.000"
1 250"
4 TYP.
g : -
S A .125" Y Y
e 8
TYPE 2 MULLION:
4” HEAVY EXTRUDED MULLION
TYP E 1 M ULLION: 6063—-T6 ALUMIA{'UM ALLOY
4” EXTRUDED MULLION SCALE: 1/2° = 17
6063—T6 ALUMINUM ALLOY
ScaLE: 12" = 1" (P) IYPE 3 MULLION:

6” EXTRUDED MULLION
6063—T6 ALUMINUM ALLOY
SCALE: 1/2" = 1"

as complying th ¢ lowida
e lera 817
irationDate 90 6 7077 2024
Ny .
\ Ayl
2
NNE
LY S ‘Q \r\
| of N,
N N[ D
N § NMEIRIRIE
N ; v
STUB DETAILL > 8w ¥ &f & -y,
—_—— N QQ‘ & § G \\\\ >\\:‘ R A 7: s,
45" CHAMFER (N. T. 5) | g ST Ky,
(OPTIONAL) ~ & NI \_\CE/V SN %
N N a2
45" CHAMFER | N ; < .0 2
(OPTIONAL) &5 PEAEER Nl = .0z
TOP PROFILE 3005-H28 ALLOY. (OPTIONAL) N s . 16 / i =
BOTTOM LEADER W/PLUSH. N Z N, * 2
REAR PROFILE 3005-H28 ALLOY. z - T4 Te 0F '* s
BOTTOM PROFILE 3005-H28 ALLOY. ER P . S
® BOX SIDE BRACKET TYPES /' /%3070, & 08
NYLON DISK: 4 1/4" 0. D. »;,”I &0.‘ ........ ,.$ &
ROLLING CUSHION W/BALLS. %, ON 4] NC‘\ Q
BOX SIDE BRACKET: CAST ALUMINUM. * * SHALL BE CAPABLE TO SUSTAIN SLAT’S WEIGHT AND ASSURE LIFTING ///,/ 7 E '\\\\\\
RIBBON: 17/32" WIDE. MECHANISM _(SEE NOTE 13/1). T
oo | Florida_Bullding Code (High Veloclty Hurricane Zone)
EXTRUDED ALUMINUM DRAWING HOOP. ©2020 TILTECO INC. DRAWN BY:
GALVANIZED STEEL DRUM: 1 9/16” O. D. x 0.032” Thk. * S50mm SLAT ROLL-UP SHUTTER MP
) RETAINING METAL PLATE: 26 Ga. Galv. Stl. AT EACH END.
NYLON FERRULE: 1 17/32" 0. D. x 0.045" Thk. x I"- I E c o ROLLINGSHIELD, INC. 7/14/2020
3 5/16" Long. M. 9875 N.W. 79th AVE. e
BOX COMPONENTS AND ASSEMBL Y DETAIL NYLON FUNNEL. 5?5%,“1- TESSTING & 3E)NG|NEER|NG COMPANY HIALEAH GARD[NS‘ FL. 33016
SCREWS: # 4 x 1/2"S. S. Phone : (3057871130 . Fax * (Soma7 1531 oo, (B081(58-~S0w1 20-200
(SEE SHEET 3A OF 16 FOR ALTERNATE ROLL—UP SHUTTER LIFTING MECHANISMS) e—mail: tilteco®@aol.com il il ——
(SEE NOTE 12 -0 GHEET 1) WALTER(’:AA- O%EE%I 3( P.E mym OLD 17-232 7/1:‘/’:020 e T =
FLORIDA Lic. # 44167 = SHEET 3 OF 16




TYPE DRIVE ROLL-UP SHUTTER SYSTEM

MOTORIZED ROLL—-UP SHUTTER SYSTEM

HAND CRANK ROLL—-UP SHUTTER SYSTEM

ALTERNATE ROLL—UP _SHUTTER LIFTING MECHANISMS

(SEE NOTE 13 ON SHEET 1)

......
. ‘e,

=

o

AN
N

—
™
<N

N

\)\
\Q
§\\\‘
=
3.
=0
I>:
. =
2.7
<
I’,, <<\<(\
/’"

W
DVE
- N /.\))ﬂ
= b
m X
(@)
]
R
Ii[”‘*

LTI

Florida_Building Code (High Velocity Hurricane Zone)

© 2020 TILTECO INC.

S50mm SLAT ROLL-UP SHUTTER

DRAWN BY:
M.P

/TiLlECO m: \

TILLIT TESTING & ENGlNEERING COMPANY
6355 N.W. 36th. Ste VIRGINIA GARDENS, Fl. 33166
Phone : (305)571 1530 Fax : (305)871-1531

ROLLINGSHIELD, INC.

9875 N.W. 79th AVE.
HIALEAH GARDENS, FL. 33016
Phone : (305)436-6661
Fax : (305)436-5523

7/14/2020
DATE

e—mail: tulteco@aol com

REV. No DESCRIPTION DATE REV. No DESCRIPTION DATE

20-200

DRAWING No

CA-0006719

1 OLD 17-232 7/14/2020)

WALTER A. TILLIT Jr. P.E.

FLORIDA Lic. # 44167

SHEET 3A OF 16




HPCON
INCHORS
SEE SCHEDULE ON

HIS SHEET) \ L

POURED CONCRETE OR

CONCRETE BLOCK

REQUIRED \/

7

£. D

' T
£0~—

@

/

-

=

.250 '.‘

NOIGIOLIO

SECTION P — P (1) : WALL MOUNT

SCALE: 1/2" = 1”

CORRESPONDING MAXIMUM ANCHOR SPACING

(SEE SCHEDULE ON

THIS SHEET) J
\ A

CONCRETE BLOCK

REQUIRED 7

? x 3/4" TEK SCREWS

2"x2"x1/8" Cont. Alum. ANGLE

uj

/

SIDE RAIL ANCHOR SCHEDULE SAE /2" -
MAXIMUM A.S.D. DESIGN PRESSURE RATING (p. s. f.) AND

i (OO0

SECTION P — P (2) : SIDE WALL MOUNT

1/4°0 x 3/4" TEK SCREW
é 6" 0. C

TAPCON
ANCHORS

(SEE SCHEDULE ON

THIS SHEET)
\ = E. D:

POURED CONCRETE OR
CONCRETE BLOCK

REQUIRED

_|_

1%3"x1/8", 2'x3x1/8",
3%3%1/8” OR 4°%3"x1/8"
CONT. BUILD-OUT TUBE.

7
-
( 1.500" 1.500"—
3
3
!
T 152
= L
L)
.250‘;.'

LO ®O*®

SECTION P — P (3) : BUILD-OUT MOUNT

.250" 1/4°0 x 3/4" TEK SCREW

*  LIMITED TO 98 psf ASD DESIGN PRESSURE RATING.
** LIMITED TO 107 psf ASD DESIGN PRESSURE RATING.
*** LIMITED TO 140 psf ASD DESIGN PRESSURE RATING.

B LIMITED TO 4’-0” SLAT SPAN.
O LIMITED TO 142 psf ASD DES/GN

Q

“Lij ai

ason] |-

Max.

/—@5.0. C.\

GOLIO

W—1 OR W-2
SECTION Q — Q : MULLION MOUNT (FACE MOUNT)

SCALE: 1/2"-= 1"

1/4" x 3/4 TEK SCREW
@ 6" 0. C.

OO

b

—— 3

ES— N ——e

el
.250" ) 4
Max. D]> Max.
-1 OR W-2
SECTION R — R : MULLION MOUNT (FACE MOUNT)

SCALE: 1/2” = 1”
250"

250"

*( A@@)

ALUMINOM ANGLE =
1/4%0 x 3/4" TEK SCREW i
e 6" 0. C

SECTION R — R : MULLION MOUNT (INSIDE MOUNT)

Xq)
EQ [ 2°%x2 X’/B Cont.

FOR SIDE RAILS (J) |, : e
CONNECTION TO POURED CONCRETE OR MASONRY WALL
(USE MAXIMUM VALUES BETWEEN POSITIVE AND NEGATIVE A.S.D. LOAD)
aximum A.s.D.
DESIGN SIDE RAIL (J) SIDE RAIL &) SIDE RAIL (L) SIDE RAIL (M)
PRESSURE
INSIDE BUILD-oOUT BUILD—-0OUT BUILD-0UT INSIDE BUILD—-0OUT
RATING (p.s.f.) |WALL MOUNT| yount MOUNT  |WALL MOUNT MOUNT MOUNT | WALL MOUNT | yount MOUNT
6” 4” n 6" 6" 6" 4” 6"
65.0 OR LESS
6” 6" 6" 6" 6" 6"
4" N/A 4” 5" 4" N/A 5"
>65.0 TO 110.0
6" 6" 6” 6" 6" 6"
N/A N/A 4~ 4 1/2" 4~ 0 N/A 4 12"
>110.0 TO 150.0
6” 6” 6" 6" 6" 6"
CONCRETE BLOCK e
& g Y
POURED CONCRETE PR — /@ @ @ < — | i
¢ %0 ¢ (Dor () @ -
SUBSTRATE LEGEND N ‘ - R
2"%x2"x1/8" Cont. 2

SCALE: 1/2” =

SECTION R - R (2) : MULLION MOUNT (FACE MOUNT)

SCALE: 1/2” = 1"

7"

. =5
- Vel i~

ALUMINUM ANGLE

Florida Bullding Code (ngh Velocily Hurricane Zone)

/ TiLIECO me. \
FL. 33016

© 2020 TILTECO INC. 50mm SLAT ROLL—UP SHUTTER R B3
ROLLINGSHIELD, INC. e

TILLIT TESTING & ENGINEERING COMPANY

6355 N.W. 36th. St, Ste. 305, VIRGINIA GARDENS, Fl. 33166
Phone : (305)871-1530 . Fax : (305)871-1531 Fax : (305)436-5523
DRAWING No

e—mail: tilteco®aol.com

WALTER A. TILLIT Jr. P.E.
FLORIDA Lic. # 44167

HIALEAH GARDENS,

Phone : (305)436-6661 20-200

REV. No DESCRIPTION DATE REV. No DESCRIPTION DATE

1 OLD 17-232 7/14/2020 SHEET 4 OF 16



SCALE : N. T. S.

FOR INSTALLATIONS INTO CONCRETE,

1"%2"x1/8" Cont. Alum. ANGLE W/ FOR INSTALLATION » T 1.5" - %1/8%0"— -
POURED CONCRETE 152167 Cont, Aum. MNGLE W/ %% x 1 %" TAPCONS ANCHORS INTO HEADERS USE 1 1721 1/2%1/8"  USE (1) 1/4° TAPCON ANCHOR, |‘750. 750,| ;LL/MZ x ;%]Léz y’/‘/7/ ‘(57;‘03 /§~J/;fmx
W/ 4" MIN.THICKNESS %" x 3/‘ TAPCONS ANCHORS e 12" OC (2) 1/4"0x3/4" TEK EACH SIDE AT CENTER OF ANGLE FOR .
REQUIRED " @ 12" 0.C \ A _ SCREW EACH SIDE. Alum. ANGLE EA. SIDE ANy SIAT & STORM BAR SPAN & R BOLT TZ ANCHOR AT EACH SIDE.
(f'c=3000 p.s.i. MIN.) i - - - A.S.D. DESIGN PRESSURE RATING 0
/ . : [N e UNDER 40psf. FOR A.S.D. DESIGN .‘
/ | N | PRESSURE_ RATING BETWEEN 40psf & R | A =
P e [ o D i O 100psf, USE SAME CONNECTION W/ b O NS
- / N [ d T TABLE 5 FOR MAX. SLAT & STORM =
|| g8 . , \ : O BAR SPAN LIMITATIONS.
I POURED CONCRETE < \ N A
” {——e—e e I W,/ 4" MIN.THICKNESS T | : \_FOR A.S.D. DESIGN PRESSURE RATING § 4
i Eg o ~ | REQUIRED L | | | [ J__O E% u O GREATER THAN 100psf AND ANY SLAT N
I [ \ ' (f'c=3000 p.s.i. MIN.) ) /’ | 4 N & STORM BAR SPAN, USE (1) 3/8%¢
It " ; 1 g \ : I..2-5E DMm- y | N KWIK BOLT TZ ANCHOR, EACH s//DE
i | | ~ | -D- 7 | T AT CENTER OF ANGLE _
I | |4 () ' ] - 1 @ w“n . . <
\_/ ] OR (2) '8 x 3/4" TEK SCREW - L(2) %o x 3/4” TEK SCREW
ii : ! J | ,\_@ AT EACH SIDE. \"ﬁ/ﬁff OF AT EACH SIDE.
| | / | b b [ [ e = o =
Il | | N g | oy » ” e
~—__ - | . =
! [ ! = ! “d | SCALE : 1/2" = 1" pop INSTALLATION; INTO CONCRETE, SCALE : 1/4” = 1"
i dl o USE (1) 1/4"0x7/8” CALK—IN ANCHOR *,
I ' "¢ ‘ g I fE oo EACH SIDE AT CENTER OF ANGLE FOR
.|l | [P - INTO HEADERS USE
I—2.000"—; | : (2) 1/4°9x3/4" Tk | 1/2x1 1/2°%1/8” ANY SLAT & STORM BAR SPAN & A.S.D.
Il (Min.) [ | | " x STORM BAR DEPTH DESIGN PRESSURE RATING UNDER 40psf. MACHINE SCREW
I ! | [ 70’?’:13 iCH Sff Alum. ANGLE EA. SIDE [/ FOR AS.D. DESIGN PRESSURE RATING LY ExE oo
| | \ @ oR @ "—3/4 " BETWEEN 40psf & 100psf, USE SAME NTO ANCHOR
I | r 2.000 I . | CONNECTION W/ TABLE 5 FOR MAX. SLAT
I | | (Min.) ! NN & STORM BAR SPAN LIMITATIONS. ANCHOR
I \—( : )
§ | | l o o @ o @ : 4 FOR A.S.D. DESIGN PRESSURE RATING
EXISTING I | | s2 | O — GREATER THAN 100psf AND ANY SLAT &
z  cuss I | | : , s ] | S - @ STORM BAR SPAN, USE (1) 3/8%x1 1/4” N.T.S
2. ! | | : , . * d4 | O £ CALK—IN ANCHOR *, EACH SIDE AT S
~
= Il | | : : EXISTING——1 : 4 & NIlS CENTETe OF ANGLE Xk 1/4" 6-20 OR 3/8" #—16 MACHINE SCREWS USED JOINTLY
o I I i GLASS | N d W/ 1/4" ¢ x 7/8" OR 3/8" 8 x 1 1/4" CALK—IN ANCHORS
e I | TR | T \ RESPECTIVELY SHALL BE LEFT TOGETHER W/ ANCHORS AT THE
0 I l | | [ OR @ | @ OR (2) 1/4°6-20 S.S. M.S. TIME STORM BARS ARE REMOVED. (SEE DET. A).
R h ! : ! ! \‘ W/7/8"x3/32" WING NUT
o & 1 JABLE 5
S& l | | | |
‘:: ” : : | | SEP;QERAgéOIZ_DTOEGLgSS | | - YT .S.0. M "L” MAX.
! I |~ SEE _SCHEDULE ON y: " Ak A .
5: Il I | | | @ SHEET 12 OF 16 | SCALE : 1/2" = 1 e :f\»‘__)r A /~:{‘:ff,, PRESSURE A';PASNLAT STORM BAR
g3 Il SEPARATION TO GLASS Iw | | ' ' dJ @ SORNAEE T Tl Y, RATING(p.s.f.) SPAN
) I~ SEE SCHEDULE ON —H | | | ! : SR L 50 7 3—-0" 8-0"
g2 | SHEET 12 OF 16 | | | . ’ 40.0 70" 5"
< t } : e @0/? @ 1.000”, 1.000" 1.000” : =57 Sy
St I | | | | J (BEYOND) POURED CONCRETE W/ — u
58 I | - . \K)- 4" MIN. THICKNESS 5-9° 6-0
= 2.000" REQURED OR GROUT 3—-0 8—0
S . IL N A" o 7
g OR (Min.) — BLOCK WALL REQUIRED. &’ 90.0 - A £
3 T T (BEYOND) oR 5-0 5—6
s I | ] _7 5:_ 4u 5_2 7
i | | 1 EDGE OF- e 4 tart
f | & ___@ WALL 3-0 7—4
I | : =] 2 60.0 7=0" 5-9"
! ) 2%4"(MAX )x1/4" 0'-6"= IQ. 2) 1/4 M/,,/ 5-0" -7
I \@ ALUM. ANGLE EACH SIDE. ‘. § TEK SCREW AT — 3-0 5_0
i | vttt EACH SIDE. - =0 =4
I 30" -7
I — 100.0 =" =57
|. .. ©or
i k@"’? @ — @/ @OR 2°%4"(MAX.)x1/4" CONT. ALUM. ANGLE, W/
| | CONCENTRATION OF (6) 5/16"¢ TAPCON XL
2000 £ ‘F s1 ~_ SECTION S1 - S1 ANCHORS TO GROUT FILLED CONCRETE BLOCK
| /88 S 11/2" x 1 1/2" x 1/8" OR POURED CONCRETE WALL © 4" O.C. AT

POURED CONCRETE
W/ 4" MIN.THICKNESS
REQUIRED
(f'e=3000 p.s.i. MIN.)

FOR 1/4"0 TAPCON ANCHORS—

OR 1/4"0 CALK-IN ANCHORS

FOR 3/8"¢ CALK—IN ANCHORS

FOR 3/8"¢ KWIK BOLT TZ ANCHOR.

NG & Fi

MMMAMM&MM&MMMM
W/ FIXED STORM BARS W/ CONCRETE ANCHORS

SECTION V —

INTI

( SEE SECTION “S” FOR ANCHOR TYPE REQUIREMENT)
1/4" = 1"

SINGLE SPAN SECTIONS AND DETAILS

SCALE :

1

-3.000" Min:

2°%5"(Max.)x1/4°x0"-6" ALUM. ANGLE
W/ (2) 5/16° TAPCON XL ANCHORS
TO GROUT FILLED CONCRETE BLOCK OR
POURED CONCRETE WALL AT EACH SIDE
FOR A.S.D. DESIGN PRESSURE RATING
UP TO 140psf, 4'~0" Max. STORM BAR
SPAN, OR USE (2) 3/8" KWK BOLT
1Z ANCHORS TO POURED CONCRETE AT
EACH SIDE FOR ALL SPAN CONDITION &
AS.D. PRESSURE RATING.

USE (2) 1/4°0x3/4" TEK SCREW

———4.500" Min:

-3.625" Mif:

-V 1/

ARE SIMILAR TO ABOVE SHOWN WITHOUT
STORM BAR & HEADERS.

TO STORM BARS AT EACH SIDE.

POURED CONCRETE
4" MIN. THICKNESS

REQUIRED OR GROUT

FILLED CONCRETE

\
N\

W,

BLOCK WALL REQUIRED.

4

SCALE

2 1/4" =

Bl S i

/ REQUIRED OR GROUT

N
POURED CONCRETE W,
/4" MIN. THICKNESS

-~

FILLED CONCRETE
BLOCK WALL REQUIRED.

N ALUM. ANGLE EACH SIDE AS
SHOWN_ON_SECTION S—S

TAPCON @ 12" 0.C.

STORM BAR LOCATION AND REST 1/4"ex1 3/4”

12*

o0’

o /’ @
/

SN2 x4 (MAX )x /4"

|1 2"t
I ALTERNATIVELY TO 5/16"8 TAPCON
ANCHOR, USE CONCENTRATION OF
(2) 3/8° KWK BOLT TZ

OPTIONAL STORM
BAR CONNECTION

:| , CONT. ALUM. ANGLE
e
- .

TAPCON @ 12” 0.C.

ANCHORS TO POURED CONCRETE
WALL @ 4" 0.C. AT STORM BAR
LOCATION AND REST 1/4°¢x1 3/4"

SCALE :

SEVEIN SEVTIN SR S B 12—
ELEvaTion /% \F

N T S

E el
o Rpakda

7» 09]/
é/07]7

Florida_Bullding Code (High Velociy urricane Zone)

© 2020 TILTECO INC.

/TiLlECO me \

6355 N.W. 36th.
Phone :

WALTER A. TILLIT Jr.

(305)871-1530 .
e—mail: tilteco@aol.com

TILLIT TESTING & ENGINEERING COMPANY
St., Ste. 305, VIRGINIA GARDENS, Fl. 33166
(305)871-1531

Fax :

CA-0006719

P.E. !

FLORIDA Lic. # 44167 2

50mm SLAT ROLL—-UP SHUTTER | e
ROLLINGSHIELD, INC. 7142020
9875 N.W. 79th AVE.
HIALEAH GARDENS, FL. 33016
- 20-200
REV. No DESCRIPTION DATE REV. No DESCRIPTION DATE DRAWING No
OLD 17-232 7//14/2020)| SHEET 5 OF 16

7

02,4,



POURED CONCRETE
W/ 4" MIN.THICKNESS

REQUIRED

(F'e=3000 p.s.i. MIN.)

12" o.C.

GLASS

MAXIMUM STORM BAR HEIGHT FOR THIS INSTALLATION TYPE
(SEE SCHEDULE ON SHEETS 13 & 14)

1%2"°x1/8" Cont. Alum. ANGLE W/
%'e x 1 9" TAPCONS ANCHORS ©

1"%2°x1/8" Cont. Alum. ANGLE
W/ 1/4°¢ x 1 %" TAPCONS
ANCHORS @ 12" 0.C.

POURED CONCRETE
W/ 4" MIN.THICKNESS
REQUIRED

(fc=3000 p.s.i. MIN.)

ILIN
W/ Fl.

FL

—FOR INSTALLATION
INTO HEADERS USE

(3) 1/4"8x3/4” TEK
SCREW EACH sipE.  “lum- ANGLE EA. SIDE

1.1/2"%x1 1/2"%1/8"%
STORM BAR DEPTH

FOR INSTALLATIONS INTO CONCRETE,
USE (2) 1/4"@ TAPCON ANCHORS, EACH
SIDE, EACH ANGLE FOR ANY SIAT &
STORM BAR SPAN & A.S.D. DESIGN

1 1/2"%1 1/2°%1/8°x0’-4" ALUMINUM,|

ANGLE W/

(1) 3/8"0 KWIK BOLT TZ

BOLT TZ ANCHORS TO POURED CONCRETE

J N ] 343 /4" PRESSURE RATING UNDER 80psf. =—1.5"—=| W/2" Min. EMBEDMENT AT EACH SIDE.
’ T - FOR A.S.D. DESIGN PRESSURE RATING 750”750
3 & I BETWEEN 80psf & 100psf, USE SAME i I \ ] .
e N it A CONNECTION W/ TABLE 54 FOR MAX. SLAT % 1Y
: ‘ e ™ (_— & STORM BAR SPAN LIMITATIONS. R O O =
I / \ W
! | / = \ | O i i O\ FOR A.S.D. DESIGN PRESSURE RATING
e | \ I g GREATER THAN 100psf AND ANY SLAT &
I o ~ -~ 1 POURED CONCRETE ’ 3 | | Q B .
oW e \ , W/ 4" MIN.THICKNESS ) N ; | . S O STORM BAR SPAN, USE (1) 3/8°0 KWIK 9 —/@OR @
I : , / \ : REQUIRED X ; & BOLT TZ ANCHOR, EACH SIDE AT CENTER 9
” s ! | \\ | (fc=3000 p.s.i. MIN.) ——l ED L | - \ OF ANGLE. / <
| | = I i’ | N
! al | ) | | i ! @OR® (3) 1/4% x 3/4" TEK S
Il : ! - / [ : SCREW AT EACH SIDE. \ L(J) % x 34" TEK
/ | EDGE OF
I | | / | > & &5 O A S A AT | | | S — J WALL SCREW AT EACH SIDE.
I | | v | - SECTION S — S (FOR FIXED STORM BAR)
j ] - | %3 o SCALE : TS SECTION S2 - S2
I ' : | gy - ~FOR INSTALLATION FOR INSTALLATIONS INTO CONCRETE, SCALE : N.T.S.
| 2.000~_.: NN e a———=o = E INTO HEADERS USE 1 1/2%1 1/2%1/8%  YSE (2) 1/4'9x7/8" CALK—IN ANCHORS ¥, -
Il (Min.) | I T (3) 1/4"9x3/4" TEK STORM BAR DEPTH EACH SIDE, EACH ANGLE FOR ANY SLAT & < MACHINE SCREW
' 1 TORM BAR SPAN & A.S.D. DESIGN
I | | OR SCREW EACH SIDE.  Alum. ANGLE EA. SIDE e W a FULLY EMBEDDED
i | | ! /434 PRESSURE RATING UNDER 80psf. 4 INTO' ANCHOR
I | | . ‘ T FOR A.S.D. DESIGN PRESSURE RATING by
I | | 2.000 { N BETWEEN 80psf & 100psf, USE SAME >
I | | (st | N CONNECTION W/ TABLE SA FOR MAX. SLAT '
Il ! ! @ OR @ | o & STORM BAR SPAN LIMITATIONS. a, ANCHOR
| | ;
: ' s2 | O (O~~| FOR ASD. DESIGN PRESSURE RATING V'
I | : | & OR @ g \_GREATER THAN 100psf AND ANY SLAT &
I [ . STORM BAR SPAN, USE (1) 1/2"ex1 1/2" - T
i i i EXISTING —— | j & S v O CALK~IN ANCHOR *, EACH'SIGE AT CeNTEr __ SCALE © 1/2" = 1
i A GLASS | b C OF ANGLE. % 1/4°6-20 OR 1/2"0—13 MACHINE
! ! §@ oR @ : \ SCREWS USED JOINTLY W/ 1/4"0x7/8"
) ! @ # OR 1/2"8x1 1/2" CALK—IN ANCHORS
I | ! \@ R C) (2) 174 55. WRU BOLES Wy NUT RESPECTIVELY SHALL BE LEFT TOGETHER
I | , W/ ANCHORS AT THE TIME STORM BARS
] ! SEPARATION TO GLASS - ARE REMOVED. (SEE DET. A).
i | J\A) S o SCALE : N.T.S.
SEPARATION TO GLASS | (K). TABLE 5A
e SEE SCHEDULE ON I @ ® v z . -
Il “sHEET 12 OF 16 : . : POURED CONCRETE Wy — (=1-000C, 1.000 1.0007, 1.000 5D Lt T WAX
I | L] AK) OR 4" MIN. THICKNESS .D. MAX. SLAT -
H | | w TBEYOND) REQUIRED OR Ecrfz_our PRESSURE SPAN STORM BAR
| 1 FILLED CONCR RATING(p.s.f.
U ' ' - OR @ BLOCK WALL REQUIRED. (p.s.t.) SPAN
_\(ggmm).;,,,, (2';{90)0' EAE 9 —11"
%) - _// in. A B} »
I T w Tl \\\“‘C\Ep\ AT / /;’ff:,, kCE> s @ EDGE OF —/ = = S : g 58
I | 8 EEEEEED ; 7 | 4:_ 7 7,_7"
L T S eeg gy | L 1 IBRGCAG SmoT o=z
> & O . -3 . en PP 100.0
i | 1118 | & . & Tz ’@ 2°%5"%1/4"X0'6 — e
i | | | s - ALUM. ANGLE AT e sty ., . 4 -0 611
L Rl T e o soc M ) s
I | x | [ === : B
I | | | | = 3 b o s = e ot EACH SIDE
f } ..\{ ] =) Ee0% * = i " (e @ OR | 2X6°(MAX)x1/4" CONT. ALUM. ANGLE, W/
I | i — | 5% e S | CONCENTRATION OF (8) 5/16" TAPCON XL
1 | | | T 2 5 £ Sl SECTION 87 _ s1 | ANCHORS TO GROUT FILLED CONCRETE
I | | | | Z AL 1.1/2°%1 1/2°%1/8" | BLOCK OR POURED CONCRETE WALL @ 4"
I ]l I\ ! A X ] SCALE : N. T. S ALUM. ANGLE EACH SIDE AS | 0.C. AT STORM BAR LOCATION AND REST
1"‘5@,‘,?3‘)’ - | | | 2 DN A s1 i SHOWN ON_SECTION S—S A 1741 3/4" Tapcon @ 12” oc.
I " | —
| I | | | N @ v % - = ] = . .
I [ | | Iy \ i Y L ¥ + |
| |1 N -
I s i st lls s \l / " Al =0 © © ? © @ © T °
, =Y . .
o @
I o000 000 |/ * \\ 12 12 4 g g —::r—‘ﬂ 4 -4 12 12
o @ B 3 \ ALTERNATIVELY TO 5/16"8 TAPCONS ANCHOR,
(2) 516 TAPCON XL ANCHORS W/ U ! USE CONCENTRATION OF (2) 3/8"¢ KWIK J
I

0
I\ 11

FOR 1,/4° TAPCON ANCHORS |_ 3" Min:
OR 1/4°8 CALK—IN ANCHORS
FOR 3/8" KWIK BOLT TZ ANCHORS— 3 5/8" Win.
FOR 1/2°0 CALK—IN ANCHORS 6" Min2
MOU, SECTI | e/
VABLE TE_AN

( SEE SECTION "S° FOR ANCHOR TYPE REQUIREMENT)

SCALE : N.T.S.

SINGLE SPAN SECTIONS AND DETAILS
ARE SIMILAR TO ABOVE SHOWN WITHOUT
STORM BAR & HEADERS.

N

1 3/4" MIN. EMBEDMENT TO CONCRETE
BLOCK OR POURED CONCRETE WALL AT
EACH SIDE FOR A.S.D. DESIGN PRESSURE

pes

RATING UP TO 140pst, 4'~0" Max. STORM T
BAR SPAN, OR (2) 3/8°0 KWK BOLT TZ \
ANCHORS TO POURED CONCRETE AT EACH
SIDE FOR ANY SPAN & A.S.D. PRESSURE
RATIN COMBINATION. USE (2) 1/4°0x3/4"
TEK SCREW TO STORM BARS AT EACH
SIDE.

POURED CONCRETE W/
4" MIN. THICKNESS

—
—

- 4" MIN. THICKNESS
REQUIRED OR GROUT
FILLED CONCRETE
BLOCK WALL REQUIRED.

FILLED CONCRETE
Glock waLL Reaumeo. BAR_CONNECTION
- 1/
W, W/CON C
SCALE : N.T.S.

SECTION V =V

N\ B
3 POURED CONCRETE W/

000 / AND REST 1/4"0x1 3/4" TAPCON
@ / e 12” o.c.
N )
4 AR
2"%5"%1/4" (MIN.)
X| 7" ConT ALum. ANGLE

WALL @ 4" 0.C. AT STORM BAR LOCATION

T,

SCALE : N. T. S.

Florida Bullding Code (ngh

© 2020 TILTECO INC.

/TiLlECOom \

TILLIT TESTING & ENGINEERING COMPANY
6355 N.W. 36th. St., Ste. 305, VIRGINIA GARDENS, Fl. 33166
Phone : (305)871-1530 . Fax : (305)871-1531
e—mail: tilteco@aol.com
CA-0006719
WALTER A. TILLIT Jr. P.E.

FLORIDA Lic. # 44167

50mm SLAT ROLL-UP SHUTTER | ™
ROLLINGSHIELD, INC. 7/14/2020
9875 N.W. 79th AVE.
HIALEAH GARDENS, FL. 33016
i 20-200
REV. No DESCRIPTION DATE REV. No DESCRIPTION DATE DRAWING No
:1 OLD 17-232 7/14/2020| SHEET 54 OF 16




POURED CONCRETE

W/ 4" MIN.THICKNESS

REQUIRED

(f'e=3000 p.s.i. MIN.)

1"%2"x1/8" Cont. Alum. ANGLE W/

12" o.c.

MAXIMUM STORM BAR HEIGHT FOR THIS INSTALLATION TYPE
(SEE SCHEDULE ON SHEETS 13 & 14)

%@ x 1 %" TAPCONS ANCHORS ©

Il sepaRATION
' SEE SCHEDULE
|| ON SHEET 12 OF 16 |

|

i {
|

P

POURED CONCRETE

W/ 4" MIN.THICKNESS

REQUIRED

(f'c=3000 p.s.i. MIN.)

ILIN

W/ £l

| @ ‘\‘\w,mmmm;
>< )or \;},\E?‘ A ..T./.Q/I//\”””
_'..

-2.000™
(Min.)
S
pica
0.44167 - || 2 *
gsz
o 3
RS
ORIOM & fF
. ® \.\
A
MW </
=g
}nhj
~

I 1
H S S S
I '
it 8% /
I e—o o o
NS
10 i
i i1y
i ifi
i ifi
[ 1 i)

3" Min:

FOR 1/4"¢ TAPCON ANCHORS
OR 1/4"¢ CALK—IN ANCHORS

FOR 3/8"¢ KWIK BOLT TZ ANCHORS————3 5/8" Min
v
FOR 1/2"0 CALK—IN ANCHORS:

6" Min:
G N _V=W(2) |
R R T RS W,

( SEE SECTION "S” FOR ANCHOR TYPE REQUIREMENT)
SCALE : N.T.S.

SINGLE SPAN SECTIONS AND DETAILS

POURED CONCRETE
W/ 4" MIN.THICKNESS
REQUIRED

(fe=3000 p.s.i. MIN.)

/.

L

1"%2"x1/8" Cont. Alum. ANGLE W/
/40 x 1 %" TAPCONS ANCHORS

127 0.C.

FOR INSTALLATION
INTO HEADERS USE
(3) 1/4°0x3/4” TEK
SCREW EACH SIDE.

EXISTING _|
GLASS

l—3/4'-'—3/4"—|

2" x 2" x 1/8" x 0'-4"
Alurn. ANGLE _EACH SIDE

FOR INSTALLATIONS INTO CONCRETE,

USE (2) 1/4"0 TAPCON ANCHORS,
EACH SIDE, EACH ANGLE FOR ANY
SLAT & STORM BAR SPAN & A.S.D.

DESIGN PRESSURE RATING UNDER

g

O
Of

N

N

O~
S0

RATING BETWEEN 50psf

LIMITATIONS.

34" EQ L EQ 3 /4"

()

2°%5"(MAX,)x1/4°X0'-6" ALUM. ANGLE

W/ (2) 5/16°¢ TAPCON XL ANCHORS—

70 GROUT FILLED CONCRETE BLOCK OR
POURED CONCRETE WALL AT EACH SIDE
FOR ANY CONDITION UNDER 50psf FOR
AS.D. DESIGN PRESSURE RATIN
BETWEEN 50 & 100 psf USE
CONDITIONS SHOWN ON TABLE S5W,
OR USE (2) 3/8% KWK BOLT T2
ANCHORS TO POURED CONCRETE AT
EACH SIDE FOR ANY SPAN & A.S.D.
PRESSURE RATING COMBINATION.

USE (4) 1/4' S.S. THRU BOLTS

TO STORM BARS AT EACH SIDE.

POURED CONCRETE W/ f /f
4" MIN. THICKNESS

L

000"

Min:

-

4
4.

T N

|
|
|
|
|
|
|
|
|
|
|

| 7
|

REQUIRED OR GROUT

R

FILLED CONCRETE
BLOCK WALL REQUIRED.

L _MOUNTI = N
W/ FIXED STORM BARS W/ CONCRETE ANCHORS

SCALE : N.T.S.

ARE SIMILAR TO ABOVE SHOWN WITHOUT
STORM BAR & HEADERS.

SECTION V = V

\L:_,//

/2" 1/2"

FOR INSTALLATION
INTO HEADERS USE
(3) 1/4°0x3/4" TEK
SCREW EACH SIDE.

—3/4"4=3/4"—

D7) or

SCALE : N.T.S.

2" x 2" x 1/8" x 0'-4"
Alum. ANGLE EACH SIDE

AT CENTER OF ANGLE

w (2) 3/8"¢ S.S.

THRU BOLTS W/ NUT

J SECTION S =S (FOR FIXED STORM_BAR)

FOR INSTALLATIONS INTO CONCRETE,

50psf. FOR A.S.D. DESIGN PRESSURE

& 100psf,

USE SAME CONNECTION W/ TABLE 5B :
FOR MAX. SLAT & STORM BAR SPAN

|_FOR A.S.D. DESIGN PRESSURE RATING
GREATER THAN 100psf AND ANY SLAT =
& STORM BAR SPAN, USE (1) 3/870
KWIK BOLT TZ ANCHOR, EACH SIDE

1.1/2°%1 1/2"x1/8°x0"-4" ALUM.

ANGLE W/ (1) 3/8"0 KWIK BOLT

3/4" 3/4" TZ ANCHOR AT EACH SIDE.
1 X &l @
T H\}'b OR @

O t O
L)
\\
¥.‘:'DGI':' OF \ (2) 3/8"% S.S.
WALL THRU BOLTS

SECTION S2 — S2

USE (2) 1/4"0x7/8" CALK—IN ANCHOR *,
EACH SIDE, EACH ANGLE FOR ANY SIAT &
STORM BAR SPAN & A.S.D. DESIGN

PRESSURE RATING UNDER 50psf.

RS
L od

O~
'%O

& STORM BAR SPAN L

~GREATER
STORM BAR SPAN,
EXCEPT STORM BAR

|

or\F1

@gLé
@

B =

SCALE : N.T.S.

POURED CONCRETE W/ 4 MIN.

x 0'—6" ALUM.
ANGLE EA. SIDE

2" x 5" x 7/4'&

N g
NS

T
HICKNESS REQUIRED OR — "Aﬂu%——. s ‘
GROUT FILLED CONCRETE A.S.D. DESIGN| MAX. SLAT L™ MAX. A.S.D. DESIGN| MAX. SLAT L™ MAX.
BLOCK WALL REQUIRED. PRESSURE SPAN STORM BAR PRESSURE SPAN STORM BAR
NTF RATING(p.s.t.) SPAN RATING(p.s.f.) SPAN
3-0" 13°—4" 3-0" 13-4~
4!_00 70:_50 4'_0" 12)_5"
50.0 50" 84" 50.0 5—0" 11—1"
I 5'-4" 7’_90 5/_4" 70?_5"
5" T 5" 70"
/ 60.0 4=0" 8-8" 60.0 4'-0" 11°-7"
fgff OF 50" 611" 5-0" 9=3"
@ 3!_0” 8'—8" 3'_0” 77’—6"
80.0 0" 6" 80.0 70" 55"
y G y ~— "
3=0" 6—11" 3-0" 9-2"
. 100.0 70" 5" 100.0 70" 17
4) 1/4'0 S.S. 4—3" '—10” 4’-3" —6”
THRU BOLTS 1200 =

SCALE : N.T.S.

\(2) 3/8" 8 5.5

THRU BOLTS W/ NUT
SECTION S = S (FOR REMOVABLE STORM BAR}

JABLE oW

FOR A.S.D. DESIGN PRESSURE RATING
BETWEEN 50psf & 100psf, USE SAME
CONNECTION W/ TABLE 58 FOR MAX. SLAT

IMITATIONS.

FOR A.S.D. DESIGN PRESSURE RATING
100psf AND ANY SIAT &

7'-0" Max. SPAN,
USE (1) 1/2"8x1 1/2" CALK—IN ANCHOR *,
EACH SIDE AT CENTER OF ANGLE.

SCALE : N.T.S.

MACHINE SCREW
FULLY EMBEDDED
INTO ANCHOR

7/

. < \/\ “‘ O\ 4
‘!E lﬂ“ ﬂ AI\B‘(OR

SCALE : N.T.S.

*1/4"6—20 OR 1/2"°0—13 MACHINE SCREWS USED JOINTLY
W/ 1/4°9x7/8" OR 1/2"9x1 1/2" CALK—IN ANCHORS
RESPECTIVELY SHALL BE LEFT TOGETHER W/ ANCHORS
AT THE TIME STORM BARS ARE REMOVED. (SEE DET. A).

S

o
3

1 1/2°%1 1/2"%1/8"
ALUM. ANGLE EACH SIDE AS

SHOWN _ON SECTION S—S

2°x5"(MAX.)x1/4” CONT. ALUM. ANGLE, W/
CONCENTRATION OF (8) 5/16"8 TAPCON XL
ANCHORS TO GROUT FILLED CONCRETE
BLOCK OR POURED CONCRETE WALL

© 4" 0.C. AT STORM BAR LOCATION AND
REST 1/4"8x1 3/4” TAPCON @ 12" 0.C.

=t

©

®

v
aﬂﬂewﬁw’%

N
POURED CONCRETE W/.

4" MIN. THICKNESS

REQUIRED OR GROUT

FILLED CONCRETE

BLOCK WALL REQUIRED.

ONAL STOR,
ONNECTION

SCALE : N.T.S.

2"

x 5" x 1/4" x
CONT.

ALUM. ANGLE

L

12"

ALTERNATIVELY TO 5/168 TAPCON XL
ANCHOR, USE CONCENTRATION OF
(2) 3/8"¢ KWIK BOLT TZ ANCHORS TO
POURED CONCRETE WALL @ 4" 0.C. AT
STORM BAR LOCATION AND REST
1/4%0x1 3/4” TAPCON @ 12" 0.C.

" 4" " 4" g 4"

eLevaTion /x\

SCALE : N. T. S.

—it "—d—12"

5
I
12”

Florida Bullding Code (Ingh Veloclty Hurricane Zone)

© 2020 TILTECO INC.

/TiLECO me \

Phone :

TILLIT TESTING & ENGINEERING COMPANY
6355 N.W. 36th. St., Ste. 305, VIRGINIA GARDENS, Fl. 33166
(305)871-1530 . Fax :

e—mail: tilteco@aol.com

(305)871-1531

CA-0006719
WALTER A. TILLIT Jr. P.E.

FLORIDA Lic.

1
# 44167 p

50mm SLAT ROLL-UP SHUTTER | °“°"
ROLLINGSHIELD, INC. 7/14/2000
9875 N.W. 79th AVE.
HIALEAH GARDENS, FL. 33016
et sl 20-200
REV. No DESCRIPTION DATE REV. No DESCRIPTION DATE DRAWING No
OLD 17-232 7/14/2020

SHEET 58 OF 16




PLASTIC
BUSHING *

POURED CONCRETE
REQUIRED

1" x 2" x 1/8" Cont. Alum. ANGLE
W/ 1/4"0 x 1 3/4” TAPCON ANCHORS @ 12" 0. C.

=—500"

1" x 2° x 1/8" Cont. Alum. ANGLE

/W/ 1/4'¢ x 1 3/4” TAPCON ANCHORS @ 12" 0. C.

7
77 i3
TN
A N
I_n_l POURED CONCRETE \
1l REQUIRED // \\
S~
I = Y \
I 4 AN PLASTIC N ]
I 5 BUSHING * J
I TOP
|ISPRING—LOADED ~ \ 7/ N 4
“ SYSTEM /\ 7 S ®
I B / / F *j ~— : )
/
i A e ) gl il i Y
Il P
” i T
i i T &
~—2.000"— ! 5% = L :
I (Min) i T0 .
I —‘. |ISPRING—LOADED | I f 2]
I @ @ I SYSTEM s @m,
I OR I 5 000" = @
“ ] . .
1l (Min.) ] OR
Il S| i ~— |
W n I
Q Il 4 | S I
S EXISTING = : : I @ @
2 GLASS X TOP p— = —
S ! : \-SPRING—LOADED e
3 T | SYSTEM I OR
S I | | 1]
=
g ! IR H o o
] L
oy I | | @ I = &
II I =
e 1 I ' I AN =
&z ' i | BOTTOM ]
638 I ! | | st o SPRING—LOADED 5
I N @ ® I i
=
58 Il separaTiON TO GLASS | | ! } |~ g%
xS ' SEE SCHEDULE ON —H | SEPARATION TO GLASS | ’5 Sk
0 ' SHEET 12 OF 16 | | SEE_SCHEDULE ON - | od
B | . | LJ\/\IJJ : i SHEET 12 OF 16 | S5
. | ~={ : ) (:)
s I : | [~ } — o\’ . : o g8
2 ! | | i : I | | (BEYOND) sy
~
3 ! ' I  — Q| ! £3
§ \/ Il | | N (%] g
M T T T | 2.000" | I @ S
g I [ | | | | — | 8
I : 1Al | © or o n) ? | | o
I I | | | TH
I | | | (BEYOND) I | | s
” | : ':'\.I,\@ I I : l | &
Il | I I 3
Il | | | Il | | OR @ N
I } } l\f I { : } | §
'|-—2 000"—— I I | | s
| i l | | | I , .
| (Min) | K1 ! @ @ I 1l iy T\T\@
Il | I |
i ! ! | B i s ‘M\/Vl s | |
Il + } 1 |
I 1| ki | ik OR @ I
e [ e il [NTT~0) ®
|
I SPRING—LOADE] —
porrow || m m \@ @ | SYSTEM | [ Ik
SPRING—LOADED~—}= I VAV OR
1 SYSTEM
Il PLASTIC »
! OR @ IIBUSHING ¥ m M (BEYOND)
I G l_u_| SPRING—LOADED
I -LOA
] ==30) ™ T A RIE== SISTEM
. g §/2.‘ AN ==== :
T & =}
r O ©
/ / Rﬂn S 3 )
SE 98 == !
M Y
g i
POURED CONCRETE: S~ —\(—[
REQUIRED - Il
PLASTIC #5007 Min. POURED CONCRETE WITH 5 2" X 5% (Max.) X 1/8" THICKNESS
BUSHING: & (o 25 T S Cont. ALUMINUM ANGLE
U >
e i Blree 3 (SEE SCHEDULE ON THIS SHEET.)
WALL REQUIRED.
CEILIN 0 INTING SECT| V=V ALLATI
W TION V=V, IN. TION
W/ REMOV, ORM ING— * W, MOV, TORM W/SPRING— Y. »

SCALE : 1/4" = 1"

* SEE SHEET 9 OF 16 FOR SPECS.

SECTIONS V = V | "z pemaus.

SCALE : 1/4” = 1*

SPRING—LOADED
- SYSTEM *

O
GLIG,
SECTION S - S :

SINGLE _STORM BAR
SCALE : 1/2" = 1"

USE CONCENTRATION OF

(SEE SCHEDULE FOR QUANTITY)
5/16"¢ TAPCON XL ANCHORS TO
GROUT FILLED CONCRETE BLOCK OR
POURED CONCRETE WALL @ 4" O.C.
AT STORM BARS LOCATION OR

USE CONCENTRATION OF

(SEE SCHEDULE FOR QUANTITY)
3/8"¢ KWIK BOLT TZ ANCHORS TO
POURED CONCRETE WALL @ 4" O.C.

SPR/NG‘-LOADED%

P

maL@,

SYSTEM *

SECTION S = S :

DOUBLE STORM BAR
SCALE : 1/2" = 1”

0R®

|

{ Il

L O

( I

: I AS APPLICABLE
I

|

|

Il 2" x 5" x 1/8" Max. Cont. Alum. ANGLE

AT STORM BARS LOCATION

(AS APPLICABLE) b

T

|

I 1/4"¢ TAPCON ANCHORS @ 12 O.C.

| (TYP. AT EACH SIDE, BEYOND CONCENTRATION)
Il

I o A

ESE)

12.000 '—J +=——12.000"—1=-4.000"—+=4.000 "~

+=—4.000"—~1=—4.000 "_.J.1 2.000 "’l—-i 2.000"~+— 12.000"

ELEVATION A\
= 1"

SCALE : 1/8”

ANCHOR & ANGLE SCHEDULE FOR ELEVATION A

A.5.D. DESIGN
ANCHOR TYPE &
PRESS&I;?gf TING CURNTIFY ANGLE THICKNESS SUBSTRATE
(5) 516" o B GROUT FILLED
75.0 OR LESS ** 1/8 CONCRETE BLOCK OR
TAPCON XL / POURED CONCRETE
(2) 3/8" 8 KWIK . Wil
75.0 OR LESS *** p et 1/8 Poz{\/igat‘_&{ﬁgﬁtz\; i,
‘ \\'\ .?\V'. ..... o.'.'.\(//\,/”-
*% W/ 4°-0” Max. SLAT SPAN & 8'-0" MAX. STORM BAR SPAN N \W\CEN o - B
a . . -
¥k* W/ 4'-0" Mox. SLAT SPAN & 8'-0" MAX. STORM BAR SPAN & . oL /}3 Z
fpi Nodq1g7 %
83 C : 1E5 Florida * :*E
accepiznee o Zp - 08 1] 7 2 e
- oé 07/u24 ""5(\52.5;.‘ OR'DP\‘-"Q%\:\‘}
3 ,I P T \ N
: #‘?/W\/ f/,,' / N AL E‘\QQ)- \\\\\
RERRO TGRS Florlda_Bullding Code_(High, Valogity Nurricane Zone)
©2020 TILTECO INC. DRAWN BY:
S0mm SLAT ROLL-UP SHUTTER mP
/ liLleEco m\ ROLLINGSHIELD, INC. AT
_ 9875 N.W. 79th AVE.
TILLIT TESTING & ENGINEERING COMPANY HIALEAH GARDENS, FL. 33016
o365 4w 3o S s 03 VoA OUEKS, L, S3ies Prne - G0t 20-200
e—mail: tilteco@aol.com . DRAWING No
CA-0006719 REV. No DESCRIPTION DATE | REV. No DESCRIPTION DATE
M ] e T sweer o o 1




2" x 3" (Max.) x 1/8" Cont.
Alum. TUBE
W/ 1/4"x1 3/4" TAPCON ANCHOR. \

1"%2"x1/8" Cont. Alum. ANGLE W/
%"0x%" TEK SCREW @ 6~ O.C.

]

GLASS

e 12" o.C. .
2
¢  POURED °
So  CONCRETE ‘
+ W REQUIRED
§ |
s
Z 'l
2.000" Min. ]— ‘
EXISTING—— ’ ’

SEE SHEET 12 OF 16
FOR Min. SEPARATION
TO GLASS.

(BEYOND)

2.000" Min. |

BUILD-OUT TUBE
(BEYOND)

POURED CONCRETE WITH 4"
MIN. THICKNESS REQUIRED
OR GROUT FILLED CONCRETE
BLOCK WALL REQUIRED.

CASE |

2"%7"(MAX.)x1/4" CONT.
ALUMINUM ANGLE

W,/ CONCENTRATION OF
ANCHORS SPECIFIED
ON SCHEDULE.

2" x 4"(Min.) x 1/8" Cont.

£
< POURED
S concr

Alum. TUBE W/ 1/4"0x1 3/4"
TAPCON ANCHORS @ 12" O.C.

1"%2"x1/8" Cont. Alum. ANGLE W/

’%'ﬂx%' TEK SCREW @ 6” 0.C.

]

EXISTING
GLASS

S REQUIRED l
" s‘.a | 3 S
//%/ ' [
- |
|
|
o]
2.000" Min. '
| ls3
|
|
|

SEE SHEET 12 OF 16
FOR Min. SEPARATION
TO GLASS.

Ll

— ‘/—@

Il/\l

BUILD-OUT TUBE-

(BEYOND)

2

000" Min.

©

53 S3
. I (8)
/§d o O O I o s
.Ql,_] oy
] = ls
i 1 — . =

POURED CONCRETE WITH 4"
MIN. THICKNESS REQUIRED
OR GROUT FILLED CONCRETE
BLOCK WALL REQUIRED.

FIXED STORM BAR CONNECTION AT BUILD-0OUT

INSTALLATIONS W/SHEET METAL SCREWS OR MACHINE SCREWS

NOTE:
SINGLE SPAN SECTIONS AND DETAILS
ARE SIMILAR TO ABOVE SHOWN WITHOUT
STORM BAR & HEADERS.

SCALE : 1/4" = 1”

SECTION V_— V(3)

2% x 3" (Min.) x 1/4" Cont.

/

2°x6"(MAX.)x1/4" CONT.

ALUMINUM TUBE W/

CONCENTRATION  Of) ANCHORS
SPECIFED &y,
WER A /!ZL o
CASE I SadE LS Ly ‘%, Florida_Bullding Code (High Velocly Hurricane Zone)
S &V\ \CEN o ‘49,"»; ©2020 TILTECO INC. DRAWN BY:
$ WWENSe 2 50mm SLAT ROLL-UP SHUTTER mp
s No. 44167 - :E 7/14/2020
] 2 liLlEco e, ROLLINGSHIELD, INC. o
=k * ks 9875 N.W. 79th AVE
S e — A A g A AL i 1 R
= : < : Do S 6355 N.V;.n : :th. t, Ste.  VIRG xlN: s, A, Phone : (305)436-6661 20-200
7/ %ﬂf LoRiO éé’bs‘ T i ecoBusteom e I DRAWING No
2, Lae., RSN CA-0006719 REV. No oATE_| REV. Mo DESCRIPTION oATE
”I”\t; S /O}\}”\‘ E\\\‘(b\\\‘\\\ Wéll:glgl?o :\. L;[;I‘.LIJ 221 gis. 2, oD 17-232__|7/14/2020 SEET 7 OF 16

ALUMINUM ANGLE W/ CONCENTRATION
OF (5) 1/4"0 x 1 1/2" TEK SCREW
@ 1 1/2" 0. C. AT STORM BAR
LOCATION, REST @ 12" 0. C.

3/4' 3/4'
ey

N ¢
g

N
O

o 4
N

|_—FOR INSTALLATIONS AT TUBE &
HEADERS USE (2) %8 x 3/4” TEK
SCREW EA. SIDE FOR ©)& (D) STORM
BARS & (3) "0 x 3/4" TEK
SCREW EA.” SIDE FOR (E)& (F) STORM
BARS.

1 1/2%1 1/2'x7/8'xA
STORM BAR DEPTH Alum.
ANGLE EACH SIDE

SECTION S3

\ USE (2) "0 x_3/4" TEK SCREW
EA. SIDE FOR (€)&(D) STORM
BARS & (3) %@ x 3/4” TEK
SCREW EA.” SIDE FOR ®) & ()
STORM BARS.

= 353

SCALE : 1/2" = 1"
AN
Typ. Typ.
A 1.1/2%1 1/2°%1/8%
¥s /— STORM BAR DEPTH Alumn.
NS N A — 4 — R N ANGLE EACH SIDE
S PR — 5 <
& |
S|
. N C—-——~—————-—%m@
VE Y= — 1t
NV &l
—

L(J) %8 x 3/4" TEK
SCREW EA. SIDE

SECTION

\—(2) 3/8"¢ S.S. THRU
BOLTS W/ NUT

S3

SCALE :

USE CONCENTRATION OF
(SEE SCHEDULE FOR QUANTITY)
5/16"¢ TAPCON XL ANCHOR TO
GROUT FILLED CONCRETE BLOCK
OR POURED CONCRETE WALL @
4" 0.C. AT STORM BARS LOCATION
OR USE CONCENTRATION OF

(2) 3/8"8 KWIK BOLT TZ ANCHOR
TO POURED CONCRETE WALL ©
4" 0.C. AT STORM BARS LOCATION

@O® or
‘ ‘ “ @ WHEN APPLICABLE

1.1/2” x 1 1/2" x 1/8” x STORM
BAR DEPTH Alum. ANGLE

’ H (SEE SECTION S3 — S3
AS APPLICABLE)

2" x 7" Max. x 1/4" Cont.
:ALUM/NUM ANGLE (CASE 1)

=

\# ¢ o o °ﬁu->°\ﬁL

12" 12" 4"
2°x6"x1/4" Cont.
ALUMINUM TUBE
(CASE Il ONLY)

e e B R e e LSS SEYL A SEL . 'y LS

ELEVA TION(C \

SCALE : 1/8" = 1*

2.000"

1/4"¢ TAPCON ANCHORS @ 12* O.C.
(TYP. AT EACH SIDE, BEYOND CONCENTRATION)

ANCHORS & STORM BARS SCHEDULE FOR ELEVATION &

ANCHOR TYPE &
QUANTITY

STORM BAR TYPE

(6) 5/16" o TAPCON XL

©0O

(8) 5/16" o TAPCON XL

GJG,

(8) 5/16” o TAPCON XL

@)+

# LIMITED TO 195psf, 3'~1" SPACING & 7'~0" MAX. SPAN STORM BAR ()




2" x 3" (Max.) x 1/8” Cont. 2" x 4"(Mi 1/8" Cont.

Alum. TUBE 17 x 2" x 1/8" Cont. Alum. ANGLE W/ A,ur;_ ngs'g')w/x ,;4.”,""3'/
W/ 1/4%x1 3/4" TAPCON ANCHORS 1/4"0 x 3/4" TEK SCREW @ 12" 0. C. TO TUBE TAPCON ANCHORS @ 12° 0.C.
@ 12" o.C.

1" x 2" x 1/8" Cont. Alum. ANGLE W/
1/4%0 x 3/4” TEK SCREW @ 12" 0. C. TO TUBE

SPRING—LOADED
SYSTEM *

—— SPR/NGs;éO]gZEE\
\ —©0 =

ANCHORS TO POURED ‘ ”
CONCRETE WALL @ 4" O.C.

1 |
\@ H AT STORM BARS LOCATION

(AS APPLICABLE)
2" x 7" Max. x 1/4" Cont.

|

SEE SHEJ7 12 OF 16

iimil “—_F o N Zﬁf'ﬁ”’o'v—# il ALUMINUM ANGLE (CASE 1) iy

|  O® | | 1| S )Y} 1T o
“ L4, Oor @ H | {— Qo) gt 1o =

t 4
o
A (BEYOND) I (BEYOND) (CASE Il ONLY)
| | l BUILD—OUT TUBE:

i
’ ’ 12.000"=——+——12.000"———4.000" 4.000" 4.000"J'4.000" 12.000" 12.000"
e oee a0 W | I O A
| I | | ELEVATION.
| J\\

|
' f
‘ SCALE : 1/8" = 1"
|

|

|

H

‘ SEE SHEET 12 OF 16
FOR Min. SEPARATION
TO GLASS.

St /
£ b ™ \ \@ £ \ == OR
POURED CONCRETE ; ‘ bt / POURED ; / @ @ ok @
REGUIRED S = | e 226’5% S L ()  SECTION S3 - S35 :
/| inmmi SINGLE STORM BAR SECTION S3 — S3 :
i Il F .0 SGHLE ¢+ /8"~ 1 DOUBLE STORM BAR
|| n= X or SCALE : 1/2" = 1"
T 0e-0 1) 53
= R :
. | ® ) : | S|
”—2.000 Min. 111 ’ stpkwc-w AZ‘éZ w—z.ooo Min. 1l 1 k—SPRING—é%%g @ @ @
‘ _45 SYSTEM l @ 53 )
J ‘ 4 USE (5) 5/16" TAPCON XL ’J
| T — o i SRS | - © o €
=1 || [ijreee - 006  dEELE | ||
|
| |

| 1/4"0 TAPCON ANCHORS @ 12" O.C.
1 (TYP. AT EACH SIDE, BEYOND CONCENTRATION)

e

%

”';2.000' Min.
H BUILD-0UT TUBE—J—*

(BEYOND)

(BEYOND)

H st S3|allss ]N s/ flss }@ @ @
0 = (Eevone) et i L SPRING-LOADED \“mm“”””"
T T T] = \».
E—= oo 22 | — V‘—R 1

SYSTEM
2

3

!

l»4. 500" Min.—

W

\
3 .
| $ K
L1l LIl LIl L1l I Ll i 1L L1l E
U;l( LLI) . | el LU@ d#m
2°%x7"(MAX.)x1/4" CONT. ALUMINUM ANGLE
” M 2" x 3" (Min.) x 1/4" Cont.

W/ 1/4"0 TAPCON ANCHORS @ 12" O.C. ALU,{,,},UM ANGLE W,/ CONCENTRATION

17—

SN

T

W/ USE (5) 5/16" TAPCON XL ANCHORS

OF (4) 1/4" x 1 1/2” TEK SCREW
70 FROUT FILLED CONCRETE BLOCK OR © 11/2" 0. C. AT STORM BAR
POURED CONCRETE WALL @ 4” O.C. AT LOCATION, REST @ 12" 0. C.
STORM BARS LOCATION.
USE (2) 3/8°¢ KWIK BOLT TZ ANCHORS 2'%6" MAX.x1/4" CONT. ALUMINUM TUBE W/
POURED CONCRETE WITH 4

TO POURED CONCRETE WALL 1/4"¢ TAPCON ANCHORS @ 12” 0.C. W/
POURED CONCRETE WITH 4" @ 4" 0.C. AT STORM BARS LOCATION USE (5) 5/16" TAPCON XL ANCHORS TO
MIN. THICKNESS REQUIRED GROUT FILLED CONCRETE BLOCK OR POURED
OR GROUT FILLED CONCRETE MIN. THICKNESS REQUIRED CONCRETE WALL @ 4" O.C. AT STORM BARS
BLOCK WALL REQUIRED. gROgROUT L LOCATION. o
LOCK WALL. REQUIRED. USE (2) 3/8°0 KWIK BOLT TZ ANCHORS TO
CASE | POURED CONCRETE WALL Florida Building Code (ngh Velocily Hurricane Zone)

CASE II © 47 O.C. AT STORM BARS LOGATION © 2020 TILTECO INC. DRAWN BY:
REMOVABLE STORM BAR CONNECTION AT BUILD—OUT 50mm_SLAT ROLL-UP SHUTTER | ™:”

INSTALLATIONS W/SPRING—LOADED SYSTEM * / liLTEC O e \ ROLLINGSHIELD, INC. 1z

SCALE : 1/4" = 1" 9875 N.W. 79th AVE.

TILLIT TESTING & ENGINEERING COMPANY HIALEAH GARDENS, FL. 33016
6355 N.W. 36th. St., Ste. 305, VIRGINIA GARDENS, Fi. 33166 : -
SECTION V - V(3 , Phone : (305)871-1530 . Fax : (305)871-1531 "’;:: : g::))g:_:;:; 20-200
e I * SEE SHEET 9 OF 16 FOR SPECS. e—mail: tilteco@aol.com : DRAWING No
& DETAILS. CA-0006719 REV. No DESCRIPTION DATE | REV. No DESCRIPTION DATE
WALTER A. TILLIT Jr. P.E. 1 oLD 17-232 7//14/2020|

FLORIDA Lic. # 44167 F SHEET 8 OF 16




TYP. 3/8™-16x4 1/2"
S.S. CAP SCREWS W/NUT

375"
| — i
BOTTOM OF HEADER ! . "
OR CONCRETE SLAB‘I | | | 3 T
! i ! 2]
T i s | | e
TOP OF STORM BAR—] : ! : | I ! I 'ﬁ§ : I i T I —"
; | H ! H lj, [} (IR | ’ | | I |
RER I R :|} Iy ol
HII ! :|l Il |’| 1||
Pl | I S ll: Ly ! L g
HII :|} S byl |'| ||| %
IR i P L] [ [ Iyl [S)
P | Y ;l: f|l I’l S
| i i i ! \_ POLYETHYLENE b P T
Rl i PT I Pl BLOCK
R | [ L ] | s N i
% Al N N T T
I = i AN o R Ly
TOP LA = =t | ) i '
SPRING-LOADED — T 151 | %:‘:t: 4 £ Ll L
SYSTEM : E;Et I Ez'i{, : :'B <i _/» </:
{ﬁ‘j:" ' 75'::: ! N :i’ 2 #ext/2” % :i’ :i’ 8
= =
! ﬂ:iil{: | <1:|:]1> I =1 S.M.S. b <§’ <$’ 5
| ;:.;f— i IR ‘i: N =L = 5
I 5=+ 1=+ | =L ‘E, ‘E, X
| <<= | == 4 - - ©
;3:!:%; 1 I';:!:%;E O = = s
<= - - o r - B
| {E!:'; l {:!:‘; i -i\yw'&auﬂs' ‘$> ‘ﬁ-
P el 1= PITCH W/1/16" .$- ,$>
FEeh - == WIRE, GALV. o= -
1 | bl T STEEL SPRING. T+ -
HIP | 01’:; I il Pl
N [ Fpoy ||| ||| |||
T ! o ol
HEISEE R i | T
11, v | 1 2
llll ’ N ;!{ \\POLYEIHYLENE }l} :|: N
dee '____J[ _____ ' L n BLOCK e Q.
Y | |\ 4-3/16"0x1/2 : ! : : | } : l }
—t | | BT il i
} ! ! SIDE OF STORM BAR @ 2=3/800" | S
! ’ I ALUM. BAR: :
! I X 6061—T6 ALLOY). » . V gx1/2” sus.
[ : ! ~SEE SCHEDULEJ f e S T e
-:.750 . 750" -;)7,3 — , W,/PHILLIPS
| . SLOTTED HEAD
: ! M SEE SCHEDULE
T STORM_BARS '

REQ'D ONLY FOR

STORM BARS |

SEE SPACING & LOCATION : |
|

ON SHEET 2 OF 16).

BoTTOM .
SPRING—LOADED
SYSTEM )

[ ———Ze————o 1

‘——STORM BARS

©o0®E0) )

4-3/16"0x1/2" ALUMINUM
BUTTON HEAD RIVETS AT EACH
SIDE OF STORM BAR

3.000™

SCALE: 1/2” =

4
O

TYP.

TYPICAL CONNECTION TO

STORM_BARS (SIDE VIEW)

SCALE: 1/2" = 1”

e

SIDE VIEW

g TOP SPRING—LOADED SYSTEM

7"

2-3/8"0x4" ALUM. BAR

X o Y
~—see scHEDULE] (6067-76) ALLOY"\ ~ SEE SCHEDULE
'n )
» - 375" 375" D
12 #8x1/2" SM.S. K 7 X, Y DIMENSIONS FOR A
M ! [‘f‘| } GIVEN TYPE OF STORM BAR
LA Pl HEEER STORM
e L) iR BAR TYPE X(in) Y(in)
/| 1P qli| 3
I N i @ 1 19/32" 1.19/32"°
- ! ! ! ;fégifHYLENE I T @ 1 23/32* 2 23/32°
] s 8 ili 1 ® | 12320 | 523082
Iyl S S| I =
! | ! S M ! ’ ! ! I ! @ 1 15/32 3 15/32"
i i i E l' | ! i I{ D) 1 23/32" 2 23/32"
Ll b D F) 1.15/32" 3 15/32"
i LU i
9
f 4-3/16"0 POP
375._1 RIVETS AT EACH SIDE
M £ OF STORM BAR

SIDE VIEW
BOTTOM SPRING—LOADED SYSTEM

SCALE: 1/2" = 1”

PLASTIC

-—¢+1/16"~J

ENGAGEMENT HOLE DETAIL
(IN_CONCRETE) FOR REMOVABLE

/ BUSHING

S~

EXISTING
CONCREETE

95/8"

SPRING—LOADED STORM BARS

PLASTIC BUSHING:

SCALE: 1" = 1"

SCALE: 1" = 17

(2)

NOTES:
(1) ENGAGEMENT HOLE DRILLED IN CONCRETE SHALL BE 5/8°8x1”
DEEP, W/1/16" MAX. TOLERANCE IN BOTH DIAMETER & DEPTH.

ENGAGEMENT HOLE DRILLED IN CONCRETE SHALL BE
PERMANENTLY PROTECTED BY FITTING PLASTIC BUSHING

(SEE DETAIL 1) INTO HOLE. IT SHALL BE THE RESPONSIBILITY
OF SHUTTERS'S OWNER TO PERMANENTLY KEEP BUSHING
FREE OF DUST & MOLD BY REMOVING IT FROM ENGAGEMENT

HOLE, CLEANING IT AND REPOSITIONING IT INTO
INDICATED ON ABOVE DETAIL.

HOLE AS

| FOR REMOVABLE STORM
OF CALK—=IN ANCHORS

““mmm‘“

DETAIL 1(ISOMETRIC)

Florida Bullding Code (High VelocHy Hurricane Zone)

© 2020 TILTECO INC.

/ TLIECO me \

TILLIT TESTING & ENGINEERING COMPANY
6355 N.W. 36th. St, Ste. 305, VIRGINIA GARDENS, Fl. 33166
Phone : (305)871-1530 . Fax : (305)871-1531

e—mail: tilteco@aol.com

CA-0006719

WALTER A. TILLIT Jr. P.E.

50mm SLAT ROLL-UP SHUTTER | °™e"
ROLLINGSHIELD, INC. /142020
9875 N.W. 79th AVE.
HIALEAH GARDENS, FL. 33016
L 20-200
REV. No DESCRIPTION DATE REV. No DESCRIPTION DATE DRAWING No
1 OLD 17-232 7/14/2020

FLORIDA Lic. # 44167

SHEET 9 OF 16




MAXIMUM MULLION SPAN FOR THIS INSTALLATION TYPE

"\
@ @OR [ N ©2020 TI ; :
@ L /ﬁ—' N § . " CE/'V AN T)"P’lCAL HEADER CONNECTION AT ENDS: 2020 TILTECO INC 50mm SLAT ROLL-UP SHUTTER DRAmi By:
(K & -
S 0. 44 76 = SECTIONS W-W 7/14/202
=7 J . = ROLLINGSHIELD, INC. As202
@ o @) ELEVATION/ X il * ¢ F IL ECO ING. 9875 N.W. 79th AVE. DATE
; ; 3 S S 6555 1, 36 e S 300, VRN SR o A NIREH GARDENS: V1, B2t
SCALE : 1/8" = 1 OF o > Phone : (305)371e1sso Fax : (305)871—1531 ”';"'_ ({;3:55))3::;3; 20-200
OR DA OIS e—mail: tilteco@aol.com bl DRAWING No
3 L & \\\\ CA-0006719 REV. No DESCRIPTION DATE__| REV. Mo DESCRIPTION DATE
%M ‘E\‘\C‘\Q\\“\\ VELORIDA L g 44167 ! s SHEET 10 OF 16

POURED CONCRETE W/
4" MIN. THICKNESS
REQUIRED

%

" x 2" x 1/8" Cont.

ALUMINUM ANGLE W/ 1/4 ox1 3/4

DEPTH Alum. ANGLE (EACH SIDE)
W/ (2) 3/8 KWIK BOLT TZ
W/ 2° Min. EMBEDMENT TO SLAB
(Typ. TOP & BOTTOM).

(SEE SCHEDULE ON SHEET 16)

Q/4 OR R/4

1 1/2%1 1/2°%1/8% MULLION_|

asnG cuass— |

TAPCON ANCHORS @ 12" 0.

Q/4 OR R/4

=

@@*@—

™~

|
l;

| v
|

|

|

!

Oor @

L — (2) 1/2" 9 THRU BOLTS
(Typ. TOP & BOTTOM)

6" MIN. THICKNESS
REQUIRED

@ OR@ (ONLY FOR W-W(2))

(4) 1/4°0x3/4" TEK
SCREW EACH ANGLE.

3%3°%3/8° 0'-3" (6061-T6 ALLOY) Alum. ANGLE AT
SINGLE SPAN & 3'%3'x3/8°%0'-6" (6061-T6 ALLOY)
Alum. ANGLE AT MULTIPLE SPAN W/ (1) 1/2° THRU
BOLT AT SINGLE SPAN & (2) 1/2°% THRU BOLTS AT
MULTIPLE SPAN. USE 7/8°% 0.D.x %" THICK WASHER
W/ THRU BOLTS.

| POURED CONCRETE W/

1" x 2° x 1/8" Cont.

ALUMINUM ANGLE W/ 1/4 x1 3/4
TAPCON ANCHORS © 12~

POURED CONCRETE W/

N

[ ®

=
7

/A
2 1/2"

4" MIN. THICKNESS
REQUIRED \/

®or O

1"

3%3"%3/8%0'-3" (6061—T6 ALLOY) W/
(4) 1/4°0x1" TEK SCREW TO HEADER &
(1) 1/2% KWK BOLT 1Z W/ 3 1/4"
Min. EMBEDMENT TO WALL.

oo

ALTERNATIVE :1

I USE

I USE

(2) 2°x4”x1/4°%0°~5" Alum. ANGLE W/
(4) 1/4"8 THRU BOLT TO HEADER &
(2) 3/8" KWIK BOLT TZ W/ 2* Min.
EMBEDMENT TO WALL.

USE 2°%7"%1/4"x0’~5" Alum. ANGLES
FOR CASES W/ 3" BUILD-OUT TUBE.

ALTERNATIVE :2

WALL MOUNTING : SECTION W-W(3)

WALL MOUNTING : SECTION W-W (3)

SCALE :

/8" = 1"

SCALE :

/8" = 1"

NOTE: VALID FOR ALL SPANS AND LOAD COMBINATIONS.

NOTE: VALID FOR ALL SPANS AND LOAD COMBINATIONS.

500" Min. Typ—

FLOOR/CEILING MOUNTING :

SECTION W-W (1), W/O HEADER

SECTION W-W (2), W/HEADER

SCALE :

"

1/8" =

POURED CONCRETE W/
4" MIN. THICKNESS
L— REQUIRED

R—

/—1/2 #

[1/2 "

©®«*(0O—

3% x 3" ALUMINUM ANGLE

1/2"

3" x 3" ALUMINUM ANGLE |

)

Oor @

|
ol
|
I

Q@i

ELEVATION/ X1

SCALE :

W,

\\\ ?\\;‘EﬁA ]“/(

1/8° = 1"

I;,

®,__._

GIOL

(EXTENDED PASSED OPENING)
. -5.000™

(2) 2"x4"x1/4"x0'-5" Alum. ANGLE WA
(4) 1/4"0 THRU BOLT TO HEADER &
(2) 3/8"0 KWIK BOLT TZ W/ 2" Min,
EMBEDMENT TO WALL.

USE 2°x7°x1/4"x0’-5" Alum. ANGLES
FOR CASES W/ 3" BUILD-OUT TUBE.

ELEVATION/ X2

SCALE :

/8" = 1"

2%2"1/4"%0"-6" (6061—T6 ALLOY) Alum.
ANGLE EA. SIDE W/ (2) 5/16"8 TAPCON XL
W/ 1 1/2" Min. EMBEDMENT WALL, OR

EMBEDMENT TO POURED CONCRETE WALL
(4" MIN. THICK).

2°XxMULLION’S DEPTHx1/8" Cont.
ALUMINUM TUBE W/ 2"%2°%1/8°0’-2"
ALUMINUM ANGLE AT MULLION W/
(3) 1/4%0x3/4" TEK SCREW EA.

(TOP/BOTTOM)

(2) 3/8°0 KWIK BOLT TZ W/ 2" Min.

(2) 3/8"¢ THRU BOLTS TO MULLION.

POURED CONCRETE

F—%}O
W/ 4° MIN. THICKNESS -

LEG.

1"%2"x1/8" Cont. ALUMINUM
ANGLE W/ %"ex3/4” TEK
SCREW @ 12" O.C.

REQUIRED. 7 W r

EXISTING GLASS — " |

—2"—

I

|

l

|

|

- |
Min. l
|

|

|

|

|

|

NO HEADER & STORM BAR ALLOWED.
UST SPLIT ROLL UP MULLIONS &
TRACKS W/ FACE MOUNT.

O O O

REQUIRED.
SEE NOTE 1.

WALL MOUNTING : MULLION CONNECTION

POURED CONCRETE

W/ 4° MIN. THICKNESS

REQUIRED OR GROUTED

CONCRETE BLOCK WALL N

ROICLG

1"%1°%1/8"<CONT. ALUM ANGLE
W/ 1/4"0x1/2" TEK SCREW
@ 12" o.c.

2%2'x1/4'x0"-6" (6061—-T6 ALLOY) Alum.
ANGLE EA. SIDE W/ (2) 5/16" TAPCON XL
TO GROUTED CONCRETE BLOCK OR POURED
CONCRETE WALL, OR

USE (2) 3/8"¢ KWIK BOLT TZ W/ 2" Min.
EMBEDMENT TO POURED CONCRETE WALL
(4" MIN. THICK)

USE (2) 3/8"¢ THRU BOLTS TO MULLION

AT TOP & BOTTOM : SECTION W-W (1)

SCALE : 1/8" = 1"

NOTE 1:

EXISTING WALL MAY BE GROUTED CONCRETE BLOCK FOR A.S.D. DESIGN
PRESSURE RATING UP TO 130.0 psf W/ 4’-2" Max. MULLION SPAN AND
3'-10" Max. MULLION SPACING AND SHALL BE 4" MIN. THICK POURED
CONCRETE FOR ALL GREATER MULLION SPAN AND LOAD COMBINATIONS.

Florida Bullding Code (Hlﬂ Velocify Hurricane Zone)

LTI



WA

1/4” 0 LAG

CREW @ Ea. STUD W/ 1 1/2" Min.
THREADED PENETRATION

1" x 2" x 1/8” Cont.

Alum. ANGLE (6063—-T6 ALLOY)

e,

WOOD HEADER REQUIRED

EXISTING GLASS

SEPARATION TO GLASi/
(SEE SCHEDULE ON
SHEET 12 OF 16)

1/4” @ LAG SCREWS @ 6" 0. C.
W/ 1 1/2” Min. THREADED PENETRATI
TO EXISTING WOOD STUD.

/

2.0

1/4”
MAX.

Oor®

%
EQ | £Q

®

2"x4"” CONT.
SILL PLATE: ~
REQUIRED e
{EQ PR .

E,Of i

AU

%

-
\/
/

i??\GJ
PLAN A (SECTION)

WALL MOUNT

SCALE : 3/8" = 1”

i

%

1/4” 8 LAG SCREWS

@ 5” 0. C. W/ 1 1/2” Min. THREADED

PENETRATION TO EXISTING WOOD STUD.

1"x2"x1/8” Cont. Alum. ANGLE
(6063-T6 ALLOY) W/ 1/4"8 LAG
SCREWS @ 12” 0.C. W/ 1 1/2"
Min. THREADED PENETRATION @
MIDWIDTH OF PLATE

~ wooD STUD

@ 24” 0. C. MAX
REQUIRED

INSIDE MOUNT

SCALE : 3/8" = 1"

OLIO)

2" x 2” x 1/8” Cont.
Alum. ANGLE

@ 6” 0. C.

PLAN B (SECTION

L 1/4"0 x 3/4" TEK SCREW

2” x 4" WOOD STUDS
REQUIRED @ CORNER
%\ (TYPICAL)
2000”XMin. ™
-
R T | TR T e R
—r
L 7
< = 2" x 4" STUDS
& =
MAX

do

Or®

AN

% | L — 2" x 4" woop stups

; o - REQUIRED @ CORNER

| 2" x 4* woop sTups reauIRED (TYPICAL)

. © CORNER (TYPICAL) | —

< _1/4 -

- ‘] MAX. qt/ —2.000X Min:

A i
s P
=25 / il /4" o
il "~ — LAG SCREWS @ 6” 0. C.
& @ W/ 1 1/2” Min. THREADED
T PENETRATION TO EXISTING WOOD

STUD.

=

1"x3"%1/8" 2"x3"x1/8",
L ——3%3"x1/8” OR 4'x3"x1/8"
CONT. BUILD—OUT TUBE.

\@
R .

Q@ s i e
PLAN C (SECTION)

3
MAX.

1/4°0x 3/4” TEK ]
SCREW @ 6” 0. C.

EQ|EQ

T
A8

1/4”
MAX.

NOTES:

1. INSTALLATIONS ARE ONLY VALID FOR BUILDINGS WITH A.S.D. DESIGN PRESSURE RATING
UP TO 75.0 psf AND FOR SHUTTERS W/O STORM BARS, HEADERS AND MULLIONS.

TO BE SOUTHERN PINE No. 2

gé&%;yﬁ? / ,/l//’/

2. FOR NEW FRAME CONSTRUC
W/ SPECIFIC DENSITY Ol';\va

BUILD—-0OUT

SCALE : 3/8” = 1"

SR e Florida Bullding Code (High VelocHy Hurricane Zone)
WAL_L M_OUNT/N_G /N_SJ—ALLA T/Q_N S WO EN*SZO %o Z ©2020 TILTECO INC. DRAWN BY:
s - v B 50mm SLAT ROLL-UP SHUTTER "P
SINGLE SPAN CONDITION = ! No. 44167 * =
=X : = 7/14/2020
vrs x 15 / TILIECO we, \|  RoumGsHEwD, iNc.
22 SEOF oo § T 0, e SO by o', Sor 20200
77 % ook (& = B i
”/, S/O fianece &%\ N CA-0006719 REV. Mo DESCRIPTION oAt | REV. No DESCRIFTION DATE
iy NAL T W “FLORIDA Lc. § 44167 N S SHEET 17 OF 16




SLAT PERFORMANCE CHART
MAXIMUM A.S.D. DESIGN PRESSURE RATING (p. s. f.)

99y 99
AND CORRESPONDING MAXIMUM SLAT SPAN “L” FOR TYPE 1 SILAT —t—
(USE MAXIMUM VALUES BETWEEN POSITIVE AND NEGATIVE A.S.D. LOADS) E =) o o :l
[m] m] =]
f¢_ L —.I
MAX. A.S.D. MAXIMUM MINIMUM SEPARATION - .
DESIGN SLAT SPAN TO GLASS [= 5 & =]
PRESSURE f—t ——]
RATING SINGLE & SINGLE & SINGLE & —t—]
(p.s.f.) MULTIPLE MULTIPLE MULTIPLE E _—,_|
UNIT * UNIT ** UNIT ##* E &l EI
5 (=]
40.0 OR LESS 5'-9” 3 1/76 3"
45.0 5-6" 3 1/16” 3" SINGLE SPAN MULTIPLE SPAN
50.0 5—-4" 3 1/16” 3”
55.0 5-2” 3 1/16" 3 SPAN LAYOUT
60.0 5'-0" 3 1/16”" 3”
65.0 4’-10" 3 7/16" 3"
70.0 4'-9” 3 1/16” 3"
75.0 4'-8" 3 1/16" 3"
— ~ ” *  SPANS VALID FOR EVERY INSTALLATION LOCATED AT ANY ELEVATION OF
80.0 4'-7 3 1/16 3 BUILDING MEASURED AT BOTTOM OF SHUTTER.
e Y 31167 3 MINIMUM SEPARATION TO GLASS FOR SINGLE AND MULTIPLE UNITS SHALL
- -6 BE MEASURED FROM BACK OF SLAT TO GLASS.
90.0 4’-5" 3 1/16” 3" **  MINIMUM SEPARATION TO GLASS FOR SHUTTERS INSTALLED WITHIN THE
o 3 1/16" 3 FIRST 30°—0" ELEVATION OF BUILDING AND MAXIMUM SPAN. SEE TABLE 1
95.0 4'-4 FOR Min. SEPARATION TO GLASS FOR SPANS LESS THAN THE Max. ALLOWED.
100.0 4'-3" 3 1/16” 3" *xx  MINIMUM SEPARATION TO GLASS FOR SHUTTERS INSTALLED ABOVE 30°—0"
o - ELEVATION OF BUILDING, MEASURED AT BOTTOM OF SHUTTER.
105.0 4'-3" 3 1/16 3 ELEVATION
110.0 4'-2" 3 1/16” 3"
115.0 =1 3 1/16" 3" TABLE 1:
120.0 3=11" 3 1/16”" 2 5/8"
125.0 311" 3 1/16" 2 5/8" SLAT SPAN - (ft.) MINIMUM SEPARATION TO GLASS
130.0 3-10" 3 1/16" 2 5/8” 69” OR LESS 3 1/16"
135.0 3-9” 3 1/16” 2 5/8”
. —g” 3 1/16” 2 5/8”
140.0 == AL il NOTE : THE TOTAL SLAT DEFLECTION AFTER ADDING
145.0 3-7" 31/16 2 5/8 THE DEFLECTION OF THE HEADER AND/OR THE
— et 31,16 2 58" STORM BAR SHALL NOT EXCEED A MAXIMUM OF
2” OR L/30 IN THE POSITIVE DIRECTION AND

A MAXIMUM OF L/.30 IN THE NEGATIVE DIRECTION. th the Flomd:
Lo-08)).17
Yeld i A

:‘\HHHNHH,‘”

Florida_Bullding Code (High Velocity Hurricane Zone)

© 2020 TILTECO INC. 50mm SLAT ROLL_UP SHUTTER Dm,;//; By:

/ liLTEco e \ ROLLINGSHIELD, INC. /182000

9875 N.W. 79th AVE.

6355t 3o 1 Skt 200 VRGN BAGDEES 29108 HALEAH GARDENS, fL. 33016
Phone : (305)871-1530 . Fax : (305)871-1531 "';:: & g::))g:_':::; 20-200
e—mail: tilteco@aol.com . DRAWING No
CA—0006719 REV. No DESCRIPTION DATE | REV. Mo DESCRIPTION DATE

WALTER A. TILLIT Jr. P.E. 1 OLD 17-232 7/14/2020)
FLORIDA Lic. # 44167 2 SHEET 12 OF 16




STORM BAR LOADING CHART
MAXIMUM_A.S.D. DESIGN PRESSURE RATING (p. s. f.) AND CORRESPONDING MAXIMUM SPAN "L” FOR

A GIVEN TYPE OF STORM BAR AND STORM BAR SPACING.

(USE MAXIMUM VALUES BETWEEN POSITIVE AND NEGATIVE A.S.D. LOADS)

MAX. SPAN FOR STORM BARS W/REGULAR CONCRETE ANCHORS

STORM BAR SPACING SHALL BE SUCH THAT MAXIMUM SLAT SPAN SHALL NOT BE EXCEEDED.

5»»n4’»nun0u"uu".i.4/n»nnuunnnn
O T ~[N ¥ ~[~ofo|r| N[O~ |N|o|lu|+|Mm N[~
SN N R NN R AR RN R R R R RN RERER
,577666655555544444444444
5 B y 2 m
(4) nnnn7nnnn 2 | (a2 [a |2 (3 |w 2 |x2 |2 |a |[=

S H IR I R I R S S I R S R A T N S

NS ST B AU I U A L L T L O R T S T B O B N R VI

Mxacr,.488776666655555554444444

IS

s"4w

M # 2 2 2 ]

EX = & e | & % " s % & 2 N ol ] 2 2 2 ] 2 2 ~

.m061679527964207976432707

EN - R RN R R R RN R R U N U S S N N A N P Y
o0 oo NNNolo|o|o|© o vvwjw/vv|vin v v v

*

@ 2 1 a |2 2 2 2
Qo M o~z ] |2 2 H 2 2 2 2 |2 HY 2 2 2 2 5 Q (= B
J1] =0 ~NMQQ|I|OQO| T+ | ~~ON|O |+ N|~|Q|~ ||
S RN N R N AN N A AR AR R R R A AR R R AR
v|lTl®l oo v nnloNKNNND Lo oo oolblo|s
s ] 2 |2
©W a2 (2 |2 |2 |2 [2 |2 [2 |2 [2 |2 |a [ QOfz | |3 |z [a [a |2 [a

IO OO N QI ~V O T M~~~ NOQ| O WO|XF|M
S I O A I A T I O O O S T B T O O B B B I B B
I N Y BT Y AT Y Ao o B e R i B B B B N N N N N N S S O O
)
.»AJﬂnnndln""nMdlnu"nn"nnndlno»nnn

r 2 o | DN ™ ~|w o™~ ~ oo o bl v\~~~ o ool N

wﬁ S IR T L Lo o [ o |

RIZ | IN o oL L L T[T T[]y

g 6 |¥

SX |

cuﬂu -

”X 1 ¥ b H B 2 a 2 “.n H B 2 2 ﬂ m H 5 2 2 2 3 2 2 H

"mMQ4084718642771876543210

EN 5 DL o rfor oo
f—/7766655555544444444444

*

AHV m ] ] ] 2 3 a2 (2[5 N 2 2 3 o 2 2 2 2 3 ﬂ yu 3
JIDATITIT T TN oo N0 H N TS T T2 ™
™ [ %] | NN R[] [ | [ [ [ [ ] [ | ] | |

- - = N ¥ v
X wle|lole|lo| b|n v v|n
-mouu»vnnu.I.NHOnnun"nn"nnnuﬂlut/

NIMQIOINOIM ~ Q| ~ 0|0 N[Ol M| N~ ~|Q| |~
S N U B N B B A R B N B S S R R N S S B R A R
A I R N AR AR B A A R N A N N N R N R N S N I IR I
[}

.GﬂanuuuunO»nununM’nunnnuunun

To |2 QOO MO~ 0o+ M~~~ (NNOlO|[¥F|™m|[M

N B RN R R R R R R N A R R R A RS R AR

SRR BN P TN TEL DT S B R e R NN o R R R N R R N R R Y

B g |~

-N & & 5 s s

s |v
x s = Qs |3 |3 |3 | Qs fa (& |a |z |5 |2 [z |~|Qz [z |z |3
oy S ololo| =N bln[olR|lu|Nb|¥|m|Nn~o[=|Ro|w|N|N

N[5 |

NI IR0 IS N A T O I U OO I
. OO D LIVIHLIV T T T T (T ([T MM M MM
Y

*

©|"I; :
Onn""""”nn""unllnnun"nnn”
J]|o|o|o|lo|o|o|o|a|N M N O~ olNlo b v (M o~
SRR IR R AN RN A NI RN RN RN
v|elele|elejeloblvibiblblol ¢ ¥ T ¥IFFI¥IT T

. 7

QW %]

wzSon (4

<50 E QW9 |V Qv Qv |v 9w iojlv|o|vw|(o|v|o IS}

2082 QB3I JIRIRIZ|V (SIS |8IXRIJILIBIVIRICIR

MDMM@.O NGl IR R A A (R PR A I I 2

s Q m

*

= ©

~ 2

§18 |8.]8%s

N o S N

g N = ) Elm
ols¥ |39 o3|
~

sl | | N&E

£ 5

3

| Q@ B

3

3 E

=)

I RES w

| = o

-~ - ™

I QA .9

U ,W.SIJ

ol T | Q=a88]s

.W ~ thF&H m

Sl I [N Rg33

o S| T 88

S| & | W55

s O L3 R

Sl ~ | = 83&"

NREE

< N

528 ¢ i

S ]

(=) 2|
W § L
38
\An1
%8
V041
Ozx .
) mGDm,m M7
S z38g o
z ORM(I. o
Wz 005w
S W8~
2 Zel Q@ Ghw
| CMs.o.mm.m_.m.
= EEmu.MWA.L
5 N -
- T
& 02 ES
o |j=dd|zdgf 22
- |l 20 =
BB
£ 38
/u_s
=3
(XK1 ]
11,”’...0 ._\m\\\\\
) * ”,
\ %,
WO, L aecee /mv ‘s
S eI,

§ 5 .,
rif;/\/ " o \Ow«
Iy © L A =
‘T.N g O D.\Ll.h
= .l <t — -
S g K E i s
- ..ﬁU O..N'
2Ly J:SE
=05 O AP
‘“,\... = ..S“
% AR
“ T AA\ N

\E\\& ..... /I.nl
\\\\m * II/




STORM BAR LOADING CHART
MAXIMUM _A.S.D. DESIGN PRESSURE RATING (p. s. f.) AND CORRESPONDING MAXIMUM SPAN "L” FOR

A GIVEN TYPE OF STORM BAR AND STORM BAR SPACING.
(USE MAXIMUM VALUES BETWEEN POSITIVE AND NEGATIVE A.S.D. LOADS)

MAX. SPAN FOR STORM BARS W/REGULAR CONCRETE ANCHORS

MAX. A.S.D. TYPE 4 STORM BAR @ TYPE 5 STORM BAR TYPE 6 STORM BAR
DESIGN 2" x 4" x 1/4” 2) 2" x 3" x 1/8” (2) 2" x 4" x 1/4"
PRRiifl\lng E K STORM BAR SPACING X STORM BAR SPACING >k STORM BAR SPACING
bst) e300 [ 04|405 |5106 |<3-0 |5104|4705 |5706 |<3-0 |50+]+705 |56
40 OR LESS| 11°-10"| 11°-0" 10°-5" g-11" | 10-3" | 9-6" 9'-0" 8'-7" 14'-1" 13'-1" 125" 11-10"
45 11'-6" 10'-8" 10°-1" 9'-8” 9—11" | 93" 8'-9" 8'-4" 13'-8”" 12'-9" 12'-0" 11'-6"
50 11°-2" 10’-5" 9'-10" 9'-2" 9'-8” 9’-0" 8'-6" 8'-1" 13'—4” 12’-5" 11'-9” 11’-2"
55 10'=11"| 10-2" 9'-7" 8'-9” 9'-5" 8-9” 8'-4" 7'-8" 13°-0" 12°-1” 11°-5" 10°-11"
60 10-8”" 9'—11" 9'-2" 8'-5" 9'-3" 8-7" 8-1" 7'—4" 12°-9” 11'-10" 11°-2" 10'-8"
65 10'-6" 9'-9” 8'-10" 8'-1" 9’1" 8'-5" 7'-9” 7-1" 12°-6" 11°-7" 11°-0" 10'-6"
70 10'—4" 9'—6” 86" 7-9" 8-11" 8-3" 7'—6" 6'-10" | 12’-3" 11'-5" 10"-9”" 10'—4"
75 10'-1" 9'-2" 8-3" 7'-6" 8-9” 81" 7'-3" 6-7" 12°-0” 11'-2" 10"-7" 10-1"
80 9’-11" 8—11" 7-11" 7'-3" 8-7" 7-10" | 7-0” 6'-5" 11'=10"| 11’-0" 10-5" | 911"
85 9'-10" 8'-7" 7'-9” 7'-0" 8'-5" 7=7" 6'-9" 6'-2" 11°-8” 10°-10" 10-3" 9'-10"
g0 9'-8”" 8’-5" 7'-6" 6-10" | 8-4" 7'—4" 6'-7" 6-0" 11'-6" 10'-8" 10-1"1 9-8”
95 9'-5" 8-2" 7'—4" 6'-8" 8-3" 7'=2" 6'-5" 5-10" | 11-4” 107" 10'-0" | 9’-5"
100 9'-2" 711" 7-1" 6'-6" 8-1" 7'-0" 6-3" 5'-9" 11°-2" 10"-5" 9-10"| 9-2”
105 8—11" 7'-9” 6'-11" 6'-4" 711" 6—-10" | 6-1" 5-7" = 10'-4" 9°-9” 8—11"
110 8'-9” 7'=7" 6'-9” 6-2" 7'-8" 6'-8" 6’-0" 5'=5" 10-11" | 10-2" 9'-7" 8-9"
115 8-7" 7'-5" 6'-8" 6'-1" 7'-6" 6'—6" 5'-10" 5'—4" 10-10" | 10°-1" 9'—4" 8-7"
120 8'-5" 7'=-3" 6'-6" 5-11" | 7'-4" 6'-5" 5'-9” 5'-3" 10’-8" 9’-11" 9'-2" 8’-4"
125 8-3" 7'-1" 6'-4" 5-10" | 7-3" 6'-3" 5-7" 5-1" 10°-7" 9’-10" 9’-0" 8'-2"
130 8-1" 7'-0" 6'-3" 5'-8" 7'-1" 6'-2" 56" 5'-0" 10"-6" 9'-9” 8-10"| 8&-0"
135 7'=11" 6'-10" 6'-1" 5'-7" 6—-11" 6'-0" 5'-5" 4'-11" 10°-5" 9'-8" 8-8" 7'-11"
140 7'-9” 6°-9” 6'-0" 5'-6" 6-10" 5=11" 5'-3" 4'-10" 10°-4" 9'-6" 8'-6" 7'-9”
145 7'=7" 6’7" 5—-11" | 5-5" 6-8" 5'-10" 5'-2" 4'-9” 10"-2" 9'—4" 8'-4" 7'-7"
150 7'-6" 6'—6" 510" 5'-4" 6'-7" 5-9” 51" 4’-8" 10°-1" 9'-2" 8-2" 7'-6"
* STORM BAR SPACING SHALL BE SUCH THAT MAXIMUM SLAT SPAN SHALL NOT BE EXCEEDED.
N ‘s%quumur,,,
\)
\ \\ v?\\:\ e, /Z( ”,
§\ \WCEN ‘9<<‘ ,/o’z,:' Florida_Bullding Code (High Veloclly Hurricane Zone)
£ ' © 2020 TILTECO NG 50mm SLAT ROLL-UP SHUTTER | e
/ I||_|E C O ix. \ ROLLINGSHIELD, INC. b
Tt X SROSEER Erri ALEAH SARDENS, . 33018
Phone : (305)871 11530 . Fax : (305)871— ~1531 Fax : (305)436-5523 20-200
e—mou(I:A_t_nI(t)gcc:)%g?gl ~com REV. No DESCRIPTION DATE REV. No DESCRIPTION DATE DRAWING. No

ity Wt WALTER A. TILLIT Jr. P.E. 1 OLD 17-232 7/14/2020|
UETTTHTA FLORIDA Lic. # 44167 F SHEET 14 OF 16




STORM BAR LOADING CHART

MAXIMUM _A.S.D. DESIGN PRESSURE RATING (p. s. f.) AND CORRESPONDING MAXIMUM SPAN ”"L” FOR

A GIVEN TYPE OF STORM BAR AND STORM BAR SPACING.

(USE MAXIMUM VALUES BETWEEN POSITIVE AND NEGATIVE A.S.D. LOADS)
MAX. SPAN FOR STORM BARS W/SPRING—-LOADED SYSTEM

MAX. A.S.D. TYPE 1 STORM BAR TYPE 2 STORM BAR TYPE 3 STORM BAR
DESIGN 2" x 2" x 3/16” 2" x 3" x 1/8” 2" x 4" x 1/8”
Pf;is;il//gf:_ >k STORM BAR SPACING >k STORM BAR SPACING Xk STORM BAR SPACING
bst) e 3—0" [sr04 |[c3-0" [ 5104 |<3-0"| 5104
40 OR LESS| 4'-5" 3'—4" 8'-0" 6'-0" 10°-0" 7'-9”
45 311" | 3-0" 7' 5'-4 9’-2" 6'—11"
50 3'-7" 2’-8” 6'-5" 4’-10" | 8-3" 6'-2"
55 3-3 2'-5" 5'-10" | 4-4 7'-6" 5'-8"
60 3'-0 2-3" 5'-4" 4’-0" 6-11" | 5-2"
65 2'-9 2-1" 4-11" 3-8 6'-4" 4’-9”
70 2'-6 =117 | 4-7" 3’-5 5-11" 4'-5"
75 24 1'-9" 4'-3" 3'-2" 56" 41"

*

STORM BAR SPACING SHALL BE SUCH THAT MAXIMUM
SLAT SPAN SHALL NOT BE EXCEEDED.

STORM BAR LOADING CHART

MAXIMUM _A.S.D. DESIGN PRESSURE RATING (p. s. f.) AND CORRESPONDING MAXIMUM SPAN "L” FOR

A GIVEN TYPE OF STORM BAR AND STORM BAR SPACING.

(USE

MAXIMUM VALUES BETWEEN POSITIVE AND NEGATIVE A.S.D. LOADS)
MAX. SPAN FOR STORM BARS W/SPRING—LOADED SYSTEM
MAX. A.S.D. TYPE 4 STORM BAR TYPE 5 STORM BAR TYPE 6 STORM BAR
DESIGN 2" x 4" x 1/4" (2) 2" x 3" x 1/8” @(2) 2" x 4" x 1/4"
Pf;EqS;;.I/g & > STORM BAR SPACING X STORM BAR SPACING X STORM BAR SPACING
Pot) <30 [ 504 |<3-0 | 504 | <30 | 5704+
40 OR LESS| 10'—4" | 7'-9" 10-3" | 9’-6 14°-1" 12-1*
45 9:_2:; 6'—77" 91_711: 8'-71" 73'-8” 70'_8"
50 81_3» 6,_2,, 9'_8" 8—0” 72'_70" 9:_8::
55 7'—6" 5'—8" 91_5" 7‘_3” 7”_8" 8’—9”
60 6'-11" 5'-2” 8'-11" 6'-8 10"-8”" 8'-0"
65 6'—4” 4 _9” 8‘—2” 6}_2” 9‘_17” 7'_5"
70 5:_71:: 4,_5" 7u_7u 5'_90 9'_210 6'—71”
- 56 P ST = | =7 _b;;q—ﬁ!nu.
* STORM BAR SPACING SHALL BE SUCH THAT MAX/M

SLAT SPAN SHALL NOT BE EXCEEDED.

Zvog

4/45/0

7////20 14

Florida Bullding Code (ngh Velocity Hurricane Zone)

© 2020 TILTECO INC.

/TiLlECO me \

TILLIT TESTING & ENGINEERING COMPANY
6355 N.W. 36th. St, Ste. 305, VIRGINIA GARDENS, FI. 33166
Phone : (305)871 1530 . Fax : (305)871-1531

e—mail: tilteco@aol.com
CA-0006719

WALTER A. TILLIT Jr. P.E.

FLORIDA Lic. # 44167

50mm SLAT ROLL-UP SHUTTER| °“mer
ROLLINGSHIELD, INC. 7/14/2020
9875 N.W. 79th AVE.
HIALEAH GARDENS, FL. 33016
o 20-200
REV. No DESCRIPTION DATE REV. No DESCRIPTION DATE DRAWING No
1 OLD 17-232 7/14/2020)|

SHEET 14A OF 16




HEADER LOADING CHART MAXIMUM A.S.D. DESIGN PRESSURE RATING (p. s. f.) AND

CORRESPONDING MAXIMUM SPAN "L” FOR A GIVEN TYPE OF HEADER.
(USE MAXIMUM VALUES BETWEEN POSITIVE AND NEGATIVE A.S.D. LOADS)

MAX. AS.D. TYPE 1 HEADER TYPE 2 HEADER TYPE 3 HEADER
DESIGN 2" x 3" X 1/8” 2" x 4" X 1/8” 2" x 4" X 1/4"
PRESSURE
?S‘ZAS STORM BAR HEIGHT STORM BAR HEIGHT STORM BAR HEIGHT
<5-0")| 57107 < 5-0" 57108 < 6-0" 6" 10 8 8 10 10" | 10°TO 12°| 12’ TO 14’

40.0 9'-11" 8'-4" 12°-2" 9’-8" H=10" 12’-10" 11'-6" 10-6" 9'-9”
45.0 9'-4" 7'=11" 11’-6" 9'-1" 14'-0" 12’-2" 10’-10" g'=71* 9'—2"
50.0 8'-10" 7'-6" 10°-11" 8'-8" 134" 11'-6”" 10'—4" 9’-5" 8'-8"
55.0 8’-5" 7'=-2" 10°-5" 8’-3" 12’-8" 11'-0" 9'—10" 9'—-0”" 8'—4"
60.0 8-1" 6'-10" 10°-0" 7'=11" 12’-2" 10’-6" 9'-5" 8'-7" 7-11"
65.0 7'-9” 6'-7" 9-7" 7'-7" 11'-8" 10-1" 9'—0" 8'—3" 78"
70.0 7'-6" 6'-4" 9-3” 7'-4” 11°=-3" 9'-9” 8’-8" 7'—11" 7hqr
75.0 7'-3" 6'-1" 8'-11" 7'=1" 10'-10" 9’-5" 8'-5" 7'-8" G b
80.0 7'-0" 5'—=11" 8’-8" 6'-10" 10-6" 9'-1” 8'-2" 7'-5* 6'—11"
85.0 6'-9” 5'-9” 8'-5" 6'-7" 10'-2" 8'-10" 711" 7'-3" 6'-8"
90.0 6'-7" 5'-7" 8'-2" 6'=5" 9'-11" 8’-7" 7'-8" 7'-0" 6'-6"
95.0 6’-5" 5'-5" 7'=11" 6-3" 9'-8" 8'-4" 76" 6'=10" 6'—4"
100.0 6-3" 5'-3" 7'-9" 6-1" 9’-5" 8'-2" 7'-3" 6-8" 6'-2"
105.0 6'-1" 5'-2" 7'-6" 6'-0" 9'-2" 7-11" 7'—1" 6'-6" 6'-0"
110.0 6-0" 5—-1" 7'-4" 5'-10" 9'-0" 7'-9" 6'—11" 6'—4" 5'-10"
115.0 5'-10" 4-11" 72" 5'-8" 8'-9” 77" 6'-9" 6'=2" 5'—g”
120.0 5-9” 4'-10" 7'-1" 5'-7" 8'-7" 7'-5" 6'-8" 6'-1" 5-7"
125.0 5'-7" 4'-9” 6'—11" 5'-6" 8'-5' 7'-3" 66" 5'—11" 5'=6"*
130.0 5'-6" 4'-8” 6'-9” 5'-4” 8'-3" 7'-2" 6'—5" 510" 5'—5”
135.0 5'-5" 4'-7" 6'-8" 5'-3" 8'-1" 7'-0" 6'-3" 5'-g” 5'—4"
140.0 5'-3" 4'-6 6'-6" 5'-2" 7'-11" 6-11" 6'-2" 5'-7" 5'—2"
145.0 5'-2" 4'-5" 6'-5" 5'-1" 7'-10" 6-9" 6'—1" 5'-6" 5—q"%
150.0° 5-1" 4'—4"" 6'-4" 5'-0" 7'-8" 6'-8* 5'—11" 5'—5" 5'-0"

\\\\“""""""“

RA.

\(':......,77[/"/

44167 b
% i E
SATEop *$
ZORIDF\.-“&‘}/S*’
_._,.\<%®\\0¢

7o Zo 03}/
tion D 06/07/1572,4,

MM%

Florida Bulldlng Code (ngh Velocily Hurricane Zone)

© 2020 TILTECO INC.

/Titlecom:. \

TILLIT TESTING & ENGINEERING COMPANY
6355 N.W. 36th. St, Ste. 305, VIRGINIA GARDENS, Fl. 33166
Phone : (305)371 -1530 . Fax : (305)871— 1531
e—mail: tilteco@aol.com
CA-0006719
WALTER A. TILLIT Jr. P.E.

FLORIDA Lic. # 44167

50mm SLAT ROLL-UP SHUTTER | °™mne
ROLLINGSHIELD, INC. /13/atz0
9875 N.W. 79th AVE.
HIALEAH GARDENS, FL. 33016
e 20-200
REV. No DESCRIPTION DATE REV. No DESCRIPTION DATE DRAWING No
1 OLD 17-232  |7/14/2020

SHEET 15 OF 16




MULLION LOADING CHART

MAXIMUM A.S.D. DESIGN PRESSURE RATING (p. s. f.) AND CORRESPONDING MAXIMUM

SPAN "L*(Ft) FOR A GIVEN TYPE OF MULLION AND MULLION SPACING (Ft.).

(USE MAXIMUM VALUES BETWEEN POSITIVE AND NEGATIVE A.S.D. LOADS)

MAX. A.S.D. I g ol TYPE 2 MULLION TYPE 3 MULLION
DESIGN 4" x 4" x 1/4 4" x 6" x .250
PRESSURE
?;757[\;3‘ MULLION SPACING MULLION SPACING MULLION SPACING
< 4-0"|4T05|5 7066708 |« 4-0"|4T05|5 7006|6708 |« 4-0"|4705|5 7106|6108 |8 10 1010 TO 12’
40.0 9'-0" | 8'—4" | 7-10"| 8-2" | 11°-9" | 10'=11"| 10°-3"| 10’~9" | 16'=4" | 15"=2" | 14’=3" | 14=107 13’=101 13'-0"
45.0 &8-8" | 8-0" | 7=7" | 7-10" | 11'=4"| 10°-6"| 911" 10'—4" | 15"-8" | 14'=7" | 13°=8" | 14’=4" | 13'-3" | 12’-6"
50.0 8-4" | 779" | 7=3" | 7=7" | 10=11"| 10°=2"| 9'-7" | 10'-0" | 15'=2" | 14’=1" | 13°=3" | 13=10" 12'=101 12'-1"
55.0 &-1" | 77-6" | 7=1" | 7-4" | 10'=7"| 9'-10"| 9’3" | 9’-8" | 14'-8" | 13’-7" | 12’=10"| 134" | 12>=5" | 11'-8"
60.0 7=10" 7-3” | 6-10"| 72" | 10'=3"| 9’-7" | 9’-0" | 9’-5" |14=3" | 13=-3" | 12'=5" | 13=0" | 121" | 11=4"
65.0 7-8" | 7- 6'-8" | 70" | 10'-0"| 9'-4" | 89" | 9'=2" |13'=11"| 12’=11"| 122" | 12’-8" | 11°=9” | 11°=1"
70.0 7-5" | 6'-11"| 66" | 6'=10" | 9°-9” | 9'—1" | 86" | 8'~11" | 13=7" | 12=7" | 11°=10"| 12"=4" | 115" | 10’-9"
75.0 7-3" | 6-9” | 6'~4" | 68" | 9'-7" | 8-10"| 8'-4" | 8'-8” | 13=3" | 12-3" | 11°=7" | 12%=1” | 11=2" | 10"-6"
80.0 7-2" | 6-7" | 6-3" | 6'=6" | 9'=4" | 8'-8" | 8-2" | g-6" | 12'-11"| 12-0" | 11°=4" | 11°=10"] 10'=11"] 10"-4"
85.0 7-0" | 6-6" | 6'~1" | 6'~4" | 9'-2" | 86" | 8-0" | 8'-4" | 12-8" | 11"=9" | 11°=1" | 11°=7" | 10>=9” | 101"
90.0 6-10"| 6'-4” | 60" | 6=3" | 9'-0" | 8—4" | 7'-10"| 8’-2" | 12’=5" | 11=7" | 10’-11"| 11°=4" | 106" | 9'=11"
95.0 6-9" | 6-3" | 5-10"| 6’-2" | 8-10"| 8-2" | 7'-9” | 8'~1" |12'=3" | 11"=4" | 108" | 11=2"| 104" | 9’9"
100.0 6-7" | 6-2" | 59" | 6=0" | 8-8" | &8=1" | 7’-7" | 7=11" | 12’=0" | 11=2" | 10=6" | 10"=11" 10'-2" | 9'-7"
105.0 6-6" | 6'- 5=7" | 5=11" | 8-6" | 7=11"| 7-6" | 7°=9” | 11'=10"| 11°-0" | 10'—4" | 10’-9" - -
11700 | 65" | 5'-11"| 5'-5" | 5'=10" | 8'=5" | 7'-10"| 7'-4" | 7'-8” | 11'-8" | 10'=10"| 10’=2" | 10'-7" = =
115.0 6'-4" | 5-10”| 5-4" | 5-8” | 8-3" | 7-8" | 7’=3" | 7=7* | 11'=6" | 10'-8" | 10’-0" | 10°-5" - -
1200 | 6-3" | 5°-9” | 5=3" | 5-7" | 8-2" | 7-7" | 7=2" | 7-5" |11'=4" | 10'-6" | 9’=11" | 10—4" - -
125.0 6'-2" | 5-7" | 5=1" | 5'=5" | &-1" | 77-6" | 7=0" | 7—4" | 11=2" | 10'-4" | 9'-9” | 10=2" = =
130.0 6-1" | 5'-6” | 5=0" | 5=4" | 7-11"| 7-5" | 6-11"| 7-3" | 110" | 10"=3" | 9'-8” | 10’-0" - -
135.0 6'-0" | 5'=5” | 4-11"| 5=3" | 7-10"| 7-3" | 6’-10"| 7=2* | 10-11"| 10'=1" | 9-6" | 9'—=11" - -
140.0 5=-11"| 53" | 4=10"| 52" | 7’-9” | 7-2" | 6'-9" | 7-1” | 10-9” | 10-0" | 9'-5" | 9’-10" - -
145.0 5-10"| 52" | 4’-9” | 5'=1” | 7-8" | 7-1" | 6-8" | 7-0” |10-7" | 9'=10"| 9’-3" | 9°-8" = -
150.0 | 5-9” | 5'- 4-8" | 5'=0" | 7-7" | 7-0" | €-7" | 6'-11" | 10'-6" | 9'-9" | 9'-2" | 9’-7" - -

NOTES :  REFER TO ELEVATIONS ON SHEET 1A OF 16

1—. FOR MULLIONS INSTALLED W/O STORM BARS

A) MULLION SPACING SHALL BE SUCH THAT MAXIMUM SLAT SPAN SHALL NOT BE EXCEEDED

2—. FOR MULLIONS INSTALLED W/ STORM BARS & HEADERS

A) MULLION SPACING SHALL BE SUCH THAT MAXIMUM HEADER SPAN SHALL NOT BE EXCEEDED

B) STORM BAR SPACING SHALL BE SUCH THAT MAXIMUM SLAT SPAN SHALL NOT BE EXCEEDED

\\;‘.\“U"VHNHUN,

SR,

........

mmmm\“

Florida Building Code (ngh Velocly Hurricane Zone)

© 2020 TILTEGO e 50mm SLAT ROLL-UP SHUTTER | ““u®"

/ liLTECO e, \ ROLLINGSHIELD, INC. 7142020

9875 N.W. 79th AVE.

TILLIT TESTING & ENGINEERING COMPANY HIALEAH GARDENS, FL. 33016
6355 N.W. 36th. St, Ste. 305, VIRGINIA GARDENS, Fl. 33166 Phone : (305)436-6661
Phone : (305)871-1530 . Fax : (305)871—1531 Fax : (305)436-5523 20-200
e—mail: tilteco@aol.com . DRAWING No
CA-0006719 REV. No DESCRIPTION DATE | REV. Mo DESCRIPTION DATE
WALTER A. TILLIT Jr. P.E. 1 OLD 17-232 7/14/2020)

FLORIDA Lic. # 44167 2 SHEET 16 OF 16




